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( SECTION-A _J)ii_»)

Q.1 Questions (A) (B) (©O) (D)
Weight of 100 kg body on the
i) surtace of the Moon will be: 100 N 160 N v 1000 N 1600 N
Ko™ 012100 kg0 Sl
Mathematical form of first condition
11) Ofeqlﬂllbrlum 1S: ZF:O v ZIZO ZPZO ZW:O
e Fdods PESEAGA
What 1s highly describe when Power Velocity Speed Friction
111) climbing up a hill?
?:%.Jﬁgffw”n)pc,.ﬁ./ié'&ij@j% 24 S Us s u:(/ v
P¢=Pj .
| 1s equal to: @@ v
Dol Y 4
. r A (‘\{\O
Identity the vector quantity: Displ%@ﬁ Power Time Distance
V) o v b 5 - .
:égﬁﬁt‘f’ Jlﬂ"d//'gﬁ Q\ﬁb@u’) v J}.l; (’lf ol
Least count of commonly used{s>"
digital stopwatch is: 1 1 1
Vl) Jﬁﬁfg&%J@'J?bﬁjdb j ’rli E SEC m SEC 1000 Sec/ 1 SEC
& 1
In gases, heat is mainly transferred | Molecular Radiation | Conduction | Convection
vii) by: collision
e g&}'fd@';ojk,}u:/‘-zf j’s’l/g/’,:gl. ﬁ!dfy v ‘_ﬁ/ﬂ/ Jﬂ’gf/
| Normal human body temperature 1s:
V1il) ‘. 9.86 °F 94.6 °F 98.6 °F v/ 96.8 °F
1§_¢JlfgjﬁgﬁdLJlJ.fl?
| The specitic heat of water 1s: 4 4200 1200 KloK o1
S.I. Unit of pressure (Pascal) 1s equal
x) | " INm2v | 1Nm™ 1 Nm 1Nm?
P GV OIS V-l ot
Kinetic energy 1s equal to: 1 1
' “ " M 2 _ ol
x1) e Jresl S K ' v 7 M 7
A body of weighing 20N 1is lifted 3m
vertically upward, its P.E will be:
Xil) | B S ok 3my 7 Z20N 6] 307 60J v 120J

:f w5
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c%pakmty org%n ( SECTION-B r».ﬂ?)
2. Write short answers to any Five questions: (5 x2 = 10) :é/ﬂ f g«,glzéauwég;ﬂf -2

1. Wl‘ltf-? any two rules_ which are helptul 1n -éﬁf‘ur"'ﬂd—é}cg)»dﬂﬁtfufﬂﬂ i
identifying significant figures.

11. Define screw gauge and its pitch. -é_gq /7 d/ @J L/u,aléf ;j/“ 11
iii. Convert 3500000000 Hz into MHz and 0.00003g s &+ #3500000000Hz & s &/ Ji - U4 il
into (ng) by using prefixes. *,.étj..f‘; J(ug)J/?l.[0.00003gﬁl(MHZ)
1iv. Why Newtop’s first Law of Motion 1s known as ?Lt'ﬂv(u:i/c'fﬁ'?wild;ﬁ'mgjr’?ug:f .

Law of Inertia? ‘ ) '
v. Define force and its SI unit. LSy S SIS s v
vl. Define the Atwood machine and write its one &8 e LI6 oy /'J‘de*fjjq, i
use.

vii. What 1s meant by gravitational field and Ce sl Pl Sl S J;;»; 7 T J;‘: S0 vii
gravitational field strength? - L

viii. What is the distance of geostationary satellite /* A@( e bl ol i esie§ 22 vii
from the Earth? Why it also has zero speed? @ S Jwust

3. Write short answers to any Five questio§§5© 5x2=10) :é4 /" =\ gﬁam,ﬂék;é/ e
Q® -“é;VLU)JE:‘.’)by{?JJfF%) 1
O LS bl S L kst i

1. Define random motion with two examg

11. Draw the graph ot constant spee

iii. Write use of LIDAR gun? 29 )16/ LIDAR iii
1v. Show that atmosphere exerts pressure. VY o ;fc.«-b' 1V

v. A stone of mass 800g has a volume200cm?, find (’J‘VJ“J“jJJ’-ﬁ-SOOgU’W/g;Lr’QU200Cm3 v

its density. =
vi. Describe that when the objects float on water and /4 LA ulgtl gl LSS g5l Vi
when sink 1nto 1t? CpT s
vil. Write names of four faces of Leslie’s cube. e (tiugy thd/ u....-fx.( A A V1l
viii. Write two uses of conductor. ey S viii
4. Write short answers to any Five questions: (5 %X 2 = 10) é/ VAT ....«L!.?Lumy(/,l,c;df 4
1. Define center of mass. _éwf’ d/u’t._;f/-" 1
11. Differentiate  between stable and neutral RN £ Iy, LG i
equilibrium. (% -

iii. Define resolution of forces. BEAS NP JTJ’:!:ZJ i
1v. Define Joule and write 1ts formula. 2l Us* B8 l;:lé - /7 d/ J# v
v. What 1s Elirzstein mass-energy equation and write 2 ;«EJC il a_.& sl e tslaf oS FT v

value of “c”. " _
vi. How can you find the efficiency of a system? - ()Vd“/ Tl i (ot s vi
vii. What 1s meant by clinical thermometer? Also L EE S e e e e 2T Vi
write 1ts range. *" - '
viil. Differentiate between melting point and freezing R AT L AT - Rt
point. i :
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( SECTION-C fy,p) “%PakCitY-OTQ%ﬂ

Note: Attempt any two Questions. (9x2=18) -‘_{/ S aUIf::a,J)/:d..«)

5. (a) How can you relate a force with the change of pe /(Fl?c. J’,Jf J (b.f ” JJ,J R, J/_._..T (s
momentum of a body? s T
YU

(b) The gravitational force be.tween two identi_cal e U S v il 1mL P L (D
lead spheres kept at 1m 1s 0.006673N. Find "

their masses. 8 A Ll e 0.006673N Uud S-S
ey

6. (a) Prove second equation of motion with the help ..., ., . 8. St 7 sl /?B’_,tw Y
of speed-time graph. 3 £

(b) What would be the volume of ice formed by ?g""wf b el A S ()
freezing of 1 litre of water? y I , *

7. (a) Define kinetic energy and derive its equation. 5, .\ . 3 by > 455 _y FAnS, e 36 (-7
S

ey

(b) A force of 100N is applied perpendicularly on f,.¢ , »o , 15/~ 10cmewtyd §f£100 (&)
a spanner at a distance of 10cm from a nut. v

Find the torque produced by the force. & (:"” St e '-c;L-LF‘J/( S

<>@)>@ch

sz@@
ﬁ@
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circle in front of that question number, Use marker or when to fill the circles. Cutting or filling or two or

more circles will result in zero mark 1n that question.

( SECTION-A i _»)

Q.1 Questions (A) (B) (C) (D)
A measuring cylinder 1s used to Mass Volume Area Level of a
i) |measure: ) liquid
et e A e | UL o ¥ L2 Jegus”
11) Hespeetel Falij_éi— é{J (_‘__,L?f)gg ls ZOOlgnh 1 100kmh™* 50kmh™* 70kmh™!
| Formula to find weight 1s: v
1i1) :.;"L_UJ"JG{L/[’}IJ/UJ} W = mg w=F.s w.F.d w=FX?
Rocket works on: First Law of | Second Law | Third Law Law of
1V) Motion of Motion | of Motion¥’ | Gravitation
:‘;-_L"/Jf_afu B s ui&?‘@)m&r BE P O u)ﬁ‘gﬁdii
The states of equilibrium are: ©\> - v
" aedtdsh| Lo 2 . )
The value of gravitational field N
strength near the surface of the Earth
vi) |is: &ikg‘l 20Nkg™! | 10Nkg™'v" | 100Nkg™?!
a.dn_.«-’tbd/,«.u J'/d!/._.r/ é@&
| The unit of energy 1s: Newton Second Meter Joule
i @wzmﬂ It 2 # Jz v
| One horse power (1hp) 1s equal to:
viii) .. v (Ihp) A 740 watt 746 watt v' | 750 watt 756 watt
At sea level the atmospheric p;‘essure
ix) |18 about: 101300 Pa | 110300 Pa | 103100 Pa | 100130 Pa
:‘;;.m;;J/t/?J/ffklé,Mé’ v
The temperature ot the Sun surtace
x) |18 6000°C v |  600°C 8000°C 1000°C
:c‘”_.t'ﬁz./;;éi/JZ‘/J}”
The interval between lower and
upper fixed point in Fahreheit scale
xi) | s 180 v/ 100 200 300
:gf_.b'ﬂﬁjKﬁlgiﬁj)’ﬁlélfu:d:‘:&jltwﬁ
Kinetic energy of a body depends | Pressure Area Temperatur Volume
Xii) upon: c
:é:.l:’ﬁzl.ﬂ;lg&}l_,@'g?d})*u’( /'?.{4 Lzl Z.A‘b v rx.'l}
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a@pakcnty org} ( SECTION-B (;;_»)

2. Write short answers to any Five questions: (5 x 2 = 10) :£4 /" .:.,y;zé.:.,myég c_.(j:( 2

1. Write formula of least count and calculate least sk g /':9/ oy et
count of Vernier calipers. = i

11. What 1s accuracy of measurement of a meter e bl Pec J 2 i
rule? © "

iii. Express 1m3 into liter. _SEJe A 1m3 i
1v. On which principle rocket moves? ?é.t*/ r‘K 5 LJ:‘!JK 21 v
v. Describe Newton’s first Law of Motion. A IS 8P ATV AR
vi. Why sliding friction 1s much greater than rolling ¢ (;_3 Ul S jf p de S B i

friction? : " )
vil. How the value of “g” varies with altitude? f‘a.dyJ e )’JK AL $aked d/“g” Vil

_ZJ/‘JJJ)’AU Viii
3. Write short answers to any Five questions: (5 X 2@@ Z:/ Lf HLI.?LHUI;#(/,L:_J;‘/ 3
1. Where lies ,axis‘? In circular motion OR O%ﬁO Ju»,,.d/mu*uaf}/c'gydl,uu’/ﬁ

rotatory motion.

ii. Define gravitational acceleration. Write %}zgue L() end ST gy P S p1 J/ S/ i
for a free falling body. @ AN

Fmd the & 7L (2, /1< 318mRikLf L iii

of thlS circular

viil. Define field force.

111. Radius of a circular track 1
distance covered 1n half r

track. S Lolin S Sk
1v. What 1s plasma? Where does it exist in nature? T tlll ul{f,;;;bajﬁ??;l /g;..ug 1V
v. Define tensile strain. Why it has no unit? st LU S ey U Y

vi. Why does a piece of stone milk in water but a dgjkfdﬁdfufdl?'vgdg f%-“?*-.-”jufd.‘;'}é § A Vi

ship with huge weight floats? sl Py

vii. How does the rate of flow of heat vary with the G#I14714L 7 Sl enrt FUAUSE A i
length of solid?

viii. Describe soon get hot during the day and soon #&bTosf Lurbse/decim e 2 viii
get cold after sunset. Why? st 2 lpsre b o

4. Write short answers to any Five questions: (5x2=10) :£4 / agigéauwégLJI 4

1. What arrangements are made to keep a vehicle 1n Z*‘-‘L@'g i"—/—éidﬁ é/ Lf’g' Lk L / SELT i
stable equilibrium? S

11. Define like parallel forces. Give an example of e Jff 5 ﬁi_ - /7 J)ﬁ ; J‘lﬁ, i
such forces. ~ ¥ == & .

iii. A force F perpendicular components Fyand Fy. (-3 _UtFy, iFy u—-v"”)/d”f CFEud L i
Write the equations to find its magnitude and

direction. L Sl LS (;J-‘“' s 3 ) AZA
1v. Define work. On what factors does it depend? fe g il J/ L/lKu’l é.a‘ /7 J s v

v. A cyclist does 12 Joules of useful work while U*LUV;PL’J.JJ:?LJ/U?JYSO/W&VHCI e
pedaling his bike from every 80 Joules of food

energy which he takes. Find his % officiency. -éfﬁb’ &J’{ 1% Su '-cg—t‘/ saTEJ212
vi. What are solar panels? Write their uses. ey, o =W LSl K Ly Vi

Please visit for more data at: www.pakcity.org



vil. Differentiate between lower and upper fixed CE IS Uj:f'ﬁ’ ISP J:C/ -
points of a temperature scale. o 45 4 * Gli

viil. What 1s meant by internal energy of a body? Setdl s = &) /"-‘IJ () Uj Vil
uépakmty.orggo ( SECTION-C /,_»)
Note: Attempt any two Questions. (9 x 2 = 18) S etrne §find

5. (a) State and prove Newton’s Second Law of _éafl:‘,uléub/c/’/iuiﬁ’a./nﬁjf (-5
Motion. T ) i

(b) Calculate the value of “g” at a height of 36000 . 5 [« » ¢ " 2 ()
km above the surface of the Earth. Y g7 J36000 m.::..i/ J‘f" *
e

6. (a) Derive the second equation of motion with the .. _ . . 8 St e snl oS (flf ey
help of speed-time graph. ;

(b) The density of air in 1.3kgm™>. Find the mass 8m X 5m X-< 1.3kgm™3 581y ()
of air in a room measuring 8m X S5m X 4m. ‘ 7 '
_“ér:bfumﬁ;ﬁfufé_/ﬁfg 4m

7. (a) Explain the volumetric thermal expansion. oo 31 1 7 Ve Wiy (LIND_7

(b) A force of 100 N is applied perpendicularly on £ % 2 ol £10cm e o s S F100 (&)
a spanner at a distance of 10cm from a nut. ° ‘

Find the torque produced by the force. (}l’” Al S_x ld e - o”u/ Jf 4%
@Q s

O

sz@@
ﬁ@
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fill that circle in front of that question number, Use marker or when to fill the circles.

( SECTION-A Jii_») u@pakcimom}s

Q.1 Questions (A) (B)
A student claimed the diameter of a wire as
1.032 cm using Vemier Callipers. Up what 1 cm 1.0 cm 1.03 cm 1.032 cm

extent do you agree with it:

) o 2 FLOR KNS < B F L e 2EF KELO | XFL3Y | ZEF1.032
:Uzoﬁjﬂtf/é—d'fT-.‘{(

50 Kmh™! will be equal to: 13.88ms 1
i1) B ——— v 14.88ms~' | 15.88ms™' | 16.88ms™*
The mass of a body increases when accelerated | Decreases Increases Decreases Remains
Remains constant. when when when moving constant
accelerate accelerate with high
iii) velocity
S| gl S @L—M (Eebug | et
ety A@ e tlosiml e tonl v

A string 1s stretched by two equal and opposite o

N~
forces 10N each. The tension in the string 1s: @®

V) d/u’xi‘..g/:?lplglf‘{c_.,uJ]‘;)"Jl?u:(dﬂj.«ql SN 20N 10NV Zero
KV‘LJ/JM e dj})-c.l@

horizontal, its horizontal comp i1l be:
V) | U1oe Bl go630° AL J..fld/cf:jlo 7N 3TNV 4N SN
Global positioning system (GPS) consists of
Vl) earth Sate}}:tes: y b . 23 4 / 25 26
e bt LU e G S (GPS) T By S F
It the velocity of a body becomes double, then Becomes Becomes half Becomes Remain the
vii) its kinetic energy will: L 4 double same
GHABHSTT st | et | wbnaid | demth | <Gty
In Einstein’s mass-energy equation ‘C’ is the: Speed of Speed of earth Speed of Speed of
viii) electron sound light
et 6 C el A NS IT | kS # RT3 Lo $o1sT b l§En Y
SI unit of pressure 1s Pascal which is equal to:
. ooy’ b 0 3
- sz Ll e Loyl 2t P~ 2 1 x 101 1 x 1072 1x10 1x10
IX) f‘;‘ -2t ¢ &‘?H" / ?ubd/b/ (‘/ Nm-—z Nm-2 Nm-—z J Nm—z
¢
Heat capacity of 5 kg of water will be: 21000 22000 23000 24000

X) dn P §dp S5 | kY K™ K K~

Actual value of latent heat of vaporization of
one kg water at 100 °C is:

Xi) | 3 enr & SeF Al E L s 410000 | kg~ ]'kg_l v kg ket
e Yrred
Which of the following materials has large
value of temperature co-efficient of linear Steel Brass Gold Aluminium
i) expansion:
X11 o . ¢ A # 7
el @y g lb LSS e S5 S U il Ak v
:c;;.aﬁcdk}
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2. Write short answers to any Five questions:

1. Define least count, what 1s the least count of
meter rod?

11.
using prefixes.

111. Write two characteristics of physical quantities.

1v. What 1s meant by banking ot road?

v. What 1s braking and skidding?

vi. How can you relate a force with the change ot

momentum of a body?

vil. What 1s the value of radius of earth?

viil. What 1s a resultant force?
3. Write short answers to any Five questions:
1. Define rotatory motion with an example.

11.

111. What 1s kinematics?

1v. State Archimedes Principle.

v. Define Young’s Modul write 1ts SI unit.

vi. Can we use a hydrometer to measure the density
of milk?

vil. Define thermal conductivity.
viil. How does heat reach us from the sun?

4. Write short answers to any Five questions:

(5x2=10)

Express 3200000W in kilo and megawatt by - s £S3200000W 2522, Jw‘/g P

(5x2=10)

( To be filled 1n by the candidate)
SSC (9') 1%t Annual 2024

U'KYA.—;/;
gl

48 & 581:45 1255

( SECTION-B (y.»)

:é4/m§l££wﬂiré£c.3:(-2
Ce b gty J ek i
i
LS LG
s S s BF i
Sl e ST kB v
?C';-_.gjifmluéfa V

S Fe e o S PSS T i

PRI NS WS
Sl Uud s,
:2f§4 /" alz!chaUlrég;J/ -3
_EaJeLinmgEy PSS Ea
._a%"/'J(Jvéuyc‘»)ww;}éﬁu/&ﬁ 11
?%MJ@’JK i
S LI S A
I (B I AR
?ujé//(r(’”d"’;"jd/m:f}:..u J/”-:‘u@’(,(?g Vi
Ew G F i
S (F L Ffietured s vii
:éj;/"agmémmrégz_éf_df

Vil

Vil

1. How head to tall rule helps to find resultant of IINH NI} t e ¢ s o S

forces?

11. What 1s second condition for equilibrium?

111. Define centre of gravity.

1v. Why 1deal system does not exist in our daily life?

v. Why are fossil fuels called non-renewable form

of energy?
vi. Define kinetic energy and potential energy.

vil. What 1s clinical thermometer? Write its range.

Convert 50 °C on a Celsius scale into Fahrenheit
temperature scale.

VI111.

Please visit for more data at:

&

S b 28l ASE

- U TT

AV gl WIS YSY

St UL T 4 SELSEAMIAS P v

-“éb@}d/&ju‘%zm&)l_@é{ Vi
_’&gé',fd/u“l?ﬂ;,‘l{r}ﬂ/ﬁ L~ vii

L EIE A 50°C S v

11
111

1V
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D%PGKCW-OFQ%'E ( SECTION-C (s .»)

Note: Attempt any two Questions. (9x2=18) ..qu J’ aﬂlr»:.&f:d.«f
S. (a) Derive arelation between force and momentum. 7. . (. Jal; loeas qu:‘ sl 8 (-5
(b) The acceleration due to gravity on the moonis 1 gos-2. ¥ pue J"}:”d S S (9

1.62ms 2. The radius of moon is 1740km. " T L
_EE e 174005 4 sk
6. (a) Define Pascal’s law and write a note on £ Uy 32 é_ﬁ;'/j'&uiﬁ'zift (UID-6
hydraulic press. ot T T i
N,
(b) A train moves with a uniform velocity of 10 = s o },d’ 36kmh~! (1 (&)
36kmh™" for 10 s. Find the distance travelled T LT
by it. ..é: (‘}L”' Lolips S KU l_“:__ﬁ L
7. (a) Detine equilibrium. Explain first condition for iy P J:f, S PN £ sE 7 11 PN £ (U7
equilibrium. ' T '
_é_wu;
(b)

Calculate the power of a pump which can lift . < ¢ L (6 #10s/30200 keos (i (=)
200 kg of water through a height of 6m in 10 ¥ 0 J my-10s (.5,: et S

sec. -é{‘!’"’ ngJ %_?rj

<>@)>@ch

sz@@
ﬁ@
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NObE You have four choices for each objective type question as A, B, C and D. The choice which you think 1s correct,

fill that circle in front of that question number, Use marker or when to fill the circles.

( SECTION-A ii.»)
Q.1 Questions (A) (B) (C) (D)

Least count of digital Vernier Callipers
) | 1 mm 0.001 mm 0.lmm | 0.0l mm v

:i-_l:'m:;%a;‘(},;u{jfﬂ S

Which of the following 1s a vector Speed Distance | Displacemen Power

ii) quantity: t
Z%}’E}J!,@’ch[ e Hols &«3«-’-3"""3 4 J}‘E

Unit of momentum 1is:

iii) g Ns v/ Nm kgms =2 Ns~1
e LYK (“f ¥

A stone 1s rotating 1n a circle 1n a

radius Im with speed10ms~!. The

mass of stone 1s 100 g. @@

iv) | Im=4 607 s b Llose 100gUL6U~ Akl | 20ms™¢ é@ 1ms™1 10ms~1v | 100ms~?

e$ur e SnudJr§ e S S @0@%

—1¥<
-« 10ms é";}gb

The value of tan 45° is: @C »

V) :‘%t‘ﬂ%_@? v 0.866 1 0.500 0.707

The value of ‘g’ at a hej n earth’s

radius above the surt earth 1s:

Vi) | ekl R L e fil Sy 2¢ 12 ¢ 1/3g 1/4g v
o

The work done will be zero when

vii) | angle between force and distance is: 90° v/ 45° 60° 180°
Iga.,:ﬂ}c)yﬂL,Usjjlujj/ﬁgﬂ}’i)

Kinetic energy of a body having a

mass of 2 kg and speed 5ms™1! is:

Vit)) | g 65 5ms 1 e /K282 S| 200 251V 507 12.5]
:(f v 8./

Which of the substance 1s the lightest | Copper Aluminium Mercury Lead
iX) one:

:q_uq:.:,h,w?_du:( 1 ﬁf:}:f v S/ e

The range ot clinical thermometer 1s: 35°(C- e o0 d 0P Cd
X) :?@ﬁ@j(}/}fy}ﬂ 12°CY 30°C-42°C 5°C-42°C 0°C-42°C

| Specitic heat of water 1s: 4200kg 4200 4200 4200
X1) L . 1 —1y7-1 -1 -1 -1y-1¢/
Sror 783 JTK Jkg™ K JkgK Jkg™"K
SI unit of thermal conductivity is: Wm-1K1
. = -1
Xii) =§.¢£zSIKCZ,g2(J/3 Wm™K Wm K v Wm K

Please visit for more data at: www.pakcity.org
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( SECTION-B (1_»)

2. Write short answers to any Five questions: (5x2=10) :ig_ /’ .;-.,yzé.:,mr éga..(j/ ,

1.

Define least count. What is the least count of a & 29 e €3 2 L ey St e i
meter rod?

Ve s
11. Define base quantities and derived quantities. S S A58 sl i Sk i
iii. How do the prefixes micro, nano and pico relate ¢ JLJ S AT ol e /“thﬁd . i
to each others? R T ¥
iv. What is the relation between force and e VARTEE i v
momentum? ‘ )

v. What is co-efficient of friction? ce 2@ v
vi. Write two methods of reducing friction. 2 pnli S ﬁ/ 1P i
vii. What is meant by gravitational field strength, .0 =3 S TS J%kd:’ F o

write 1ts value on earth?
viil. Why it i1s said that gravitational force 1s a non- @@Ww TR J’"" 4 207 J/d o s
contact force? (©)

3. Write short answers to any Five questions: = 10) zf/ L ...,u;»z:...,my CL:_J;( 3
1. Define graph and write its uses. Q;@% el aUWléu’mléJ ¥ Y SV
11. When 1s a body said to be at rest? @ le o Ll U—J;Jf) df 11
iii. Why vector quantities can added and K LU S o K I T St A i
subtracted like scalar quant; ¢ bz
1v. If mass of 5 litre of er 5 kg, calculate its . “é rrl’”(}"z“jtf S g S5 JLK&MS I e

density. *

v. Define hydrometer and write 1ts uses. 2l Je16 mlé,f - /7 d/ SLaEL
vi. Why does the atmospheric pressure vary with CetbJaud ALk 2 S Vi
height? A T
vil. Define green house etfect. -ﬂébg /7 d/ ué?.lu‘il,cgf Vil
viil. What 1s meant by convection current? Sl rl Ve o2/, u;g ¢ viii

4. Write short answers to any Five questions: (5x2=10) é/ YA ...,Lliﬁuﬂlrf/ta.d:( 4

1.
11.
111.

1V.

V1.

V1l.

VI111.

Describe resolution of force. _éubu’,z;’...:l u‘r’;/; 1
Define centre of mass. -:éh.g Ve J T A i
Narrate name of states of equilibrium. el uPe i i
Define heat and electrical energy. ...é: - /‘7 u( &)lﬂ }gu;uﬁvg 1V
. Write two methods by which nuclear energy 1s P F L Ll oG ey
released. T i
What is wind energy? Write its uses. &l JL»‘HKJl?{_g SV TIRY!
What do you mean by upper and lower fixed ?L},/géjé’,jijﬂﬁ,#,‘cﬁy/g i

points on thermometer?

1. Detine latent heat of fusion. _é_;q Vd S 753 S5k viii
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( SECTION-C /» o) C’@Pakcworg}

Note: Attempt any two Questions. (9 x2=18) ..u:/ S .:-Ulm::.éﬁ..b]

5. (a) itiz;e;r;il T))liep;ain Newton’s third law of motion = U ol Hé b w61 £ K J",,. § Sy (-5
_“éwws

(b) The gravitational force between two identical ~ 7y . 5 S m L L% (i ()
lead spheres kept at 1m apart is 0.006673N. U7 S e 4 e 0 o g B 08

Find their masses. Z -<0.006673N o ‘_)-2 dgj 012,
..é: r:l’” 7\
6. (a) Explain in detail the types of motion. 9y ol ’(ru' J u: v (U-6

(b) The head of a p@n 1s a square of side 20mm, find 20mm 4L | uﬁ?_ e g e /J ULz L1 ()
the pressure on 1t due to a force of 40N. o _
s Swil g o o8 SAON Y0 L e

-ErP Ay
7. (a) Define energy and write a note on three forms of , j 2 ) B FLEH (T

energy.

2l

(b) Eind the magnitqde and direction of a fqrce, if s d X € P L e ol N J g8 1 ()
its x-component 1s 12N and y-component 1s SN. ‘ )
e 5Nz Ly 12N

sz@@
ﬁ@
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You have four choices for each objective type question as A, B, C and D. The choice which you think 1s correct,
fill that circle in front of that question number, Use marker or when to fill the circles.

( SECTION-A )i »)

Q.1 Questions (A) (B) (C) (D)
| The number of base units in SI are: A 7
1) :%)'/&.JJL’Zd}L&JSI 5 6 P
A ball 1s thrown vertically upward. Its Zero
velocity at the highest point will be:
ii) JQ:JJ'{,(&"L‘Z;A‘%‘J%QJ’TJKIJHQ R4 10ms™* 9.9ms™* 9.8ms™*
:Ln
The co-efficient of friction between
jii) | e and wet roac is: ) 0.1 0.2V 0.3 0.4
Zcﬁ:.dnc)y//’JT_U-f}dili/uyﬂquﬂgﬁlﬂf’
_ Inertia depends upon: Force %/@i?orce Mass Velocity
1V) :c;;_l;'ﬁ;ba;i(?/'l J)}’ <® Y&y JL v L}é’ﬂ)
The turning effect of a force 1s called: | Mom Torque Net force | Moment arm
v) 105 Cuss v = kv b o Lony
The value of ‘g’ on moon 1s: NS
vi) 5w @@62‘1}8 1.72ms™* | 1.82ms™4 1.92ms™?
FRIPEDJGFAV:
A body of mass S0Kg ra fo a
height of3m, 1ts potenti rgy will
be:
vii) ) ) 1200J 13001 1400 J 15007 v/
) LQIJ&A&?mI{JZJLﬂf%SO
_dﬁﬁ&)u}fiégd/u’l
The work done will be zero, when the
angle between the force and the
Vlll) distance is: 450 60CJ 9OD / 1800
....}’E,:..JUU‘L(‘J)L,L“’GJ}’JJ}%_A-??)’E/&&HGJ
The mass of 200cm? of stone 500g its
density will be:
ix) | (U e 500gULE A L psds 200cm? ) 2.5g‘(;m‘2 2.4gcm™3 | 2.3gem ™3 2.2gcm™3
_j)’f&’:. 3
Water freezes at: Y ,
X) #-WMJA/.j«/;U?&,E OF 0K 32F —273K
| In solids, heat 1s transtferred by: Radiation | Conduction | Convection | absorption
¥) e Y e 7B | SISk SV 8=%1 0
| Thermal conductivity of water is: 0.29Wm™! | 0.49Wm~* | 0.39Wm™* | 0.59Wm™
Xii) K1 K1 K1 K1v

e dnl 0 2 S0
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2. Write short answers to any Five questions:
1,
11.

111.
V.
V1.
V1l.

V11l.

Subjective Physics Paper Group 1 Gujranwala Board 2024

Maximum Marks: 48

Group —

( To be filled 1n by the candidate)
SSC (9') 1%t Annual 2024

I a%pakcity.org%c P

( SECTION-B (y.»)

What 1s meant by Vernier Constant?

Define Plasma Physics.

Why do we need to measure extremely small
intervals of time?

Write down two advantages of Friction.

. Detine Centrifugal Force.

When a gun 1s fried, it recoils. Why?
What 1s Global Positioning System?

State law of Gravitation.

3. Write short answers to any Five questions:

1.

11.

111.

Differentiate between vectors and scalars.

(5x2=10)

15

:éx,/".:».,yzée.,uwégc_.éf-2
?%)l/ga,&vgjfﬂ 1
_ib%/’j‘d/uffpuik 11

°+Jgu J ";;/J%.quﬁ;ﬂdl{?’!é:};uf iii
-é{/ﬁflﬁnﬁc)y/' 1V
_idedsz?d}“ V
"u::.(-r_dw/b’fé fjédtﬁdwu}ﬁua Vi
(Global Positioning System) ™ in,z;jd’yg vii
Ce i
S 68§y viii
(5 X ég% 2 f ezl ety bleds 3
LI AE s A

Represent 80 N force acting in No@lﬁg@st e U E80N 2 S b (54 JE

direction.

Define acceleration and write f%s S.I unit.

_é//;lb
LA yS T EEy A u‘%/‘rﬁ

111

1v. Define density and write & ..iﬁgl{w;;lébg 7 S 5 v
v. The mass of 5 litre of water 1s 5kg. Find its -éﬁ W Ub"v "5&/ - Sk W L{&.L,./*J é.L. -V
density. (1 litre = 107°m)°> (2o =103 41)

vi. Differentiate between stress and strain. _é L U IR 2 Vi
VIL. ;?Slgs ‘;:onduction of heat does not take place in ot sl st S K /j i
viii. Write down two uses of good conductors. 1 L i
4. Write short answers to any Five questions: (5x2 =10) 'ij / @Lliﬁamrétaéyf 4

i. Define stable and neutral equilibrium. A N PRT Y U sl kel
11. How does Head to Tail Rule help to find the e oalt ‘f/ s/ g P, {,/f sUss ‘f Yk i
resultant ot vectors? ¢
111. Define centre of mass and centre of gravity. _é - /7 S & gj ST A WS A~ i
1v. Differentiate between work and energy. Ty PGS AV
v. Define efficiency of a system and write formula 4 s JWOI::’; SO M-S ff d1d, fu v
of percentage etficiency. s
vi. Detine potential energy and write 1ts equation. 29 g_,l;l,xJ Ju;lé -/ /7 d/ &jiﬂb; Vi
vil. Convert 100F° temperature on Fahrenheit Scale 4 U J’*ﬁ U'u:'/ /Z‘*/:{ 1001:@@-)56 <l v
into Celsiues Scale. sy
viil. Define linear thermal expansion and volume |

thermal expansion.

_é - /7 J 1%4 CBA](}J.J:;MU;{ J;ud)’ Vil
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( SECTION-C /»_»)

Note: Attempt any two Questions. (9 x2=18) _‘_{/ S .:-..»Ulr»LJ:(:dJ
5. (a) What is meant by law of Inertia? Also give two Byl sy 2 A e AT ()25
examples. ' 00T

(b) A polar satellite 1s launched at 850km above j} 7 26 ol JSSOkm e IS ){. {1 ()

earth. Find 1ts orbital speed? i
_ér}h”éz’f JTJJI..‘:_'_QJ;

6. (a) Derive First Equation of Motion by using speed- .. ., . ﬁ Sel7 e sl aS FE b (U6
time graph. ;

(b) Calculate the volume of an iron sph_ere of mass . - Jor gL Sl e VLU g S5 ()
5kg. The density of iron is 8200kgm 3. ' .
-« 8200kgm™3.5" {2

7. (a) Define Resolution of forces. How can a force F J1SFU$ Jf oy 1! ) T Fdsr s (N7
be resolved into its perpendicular components? ) $ . i
s o K LS AU G £
(b) A motor boat moves at a steady speed of 4ms™". . > . :. A0 (amst oy e (0 (&)
Water resistance acting on it is 4000 N. Calculate " T

power of 1ts engine. u“? JJ J J,L, g S Jj 4 U - (3/
_ e L S AL - 4000N
:-%pakmty.org %o '

<>@)>@ch

1

sz@@
ﬁ@
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think 1s correct,
fill that circle in front of that question number, Use marker or when to fill the circles. Cutting or filling or two or
more circles will result in zero mark in that question.

( SECTION-A si.2)

Q.1 Questions (A) (B) (©C) (D)
The range of clinical thermometer 1is: v
" - . ) . . 2 @ _420 2 O _420 O _420 (@) _ O
1) e QoS v 7 JSlS 0°C-42°C | 25°C-42°C | 30°C-42°C | 35°C-42°C
The energy stored in coal 1s: Heat energy Kinetic Chemical Nuclear energy
ii) energy energy
e G S| Goen | Sagdd | GAEEY | Ay
A ball 1s thrown vertically upward. Its Zaro
velocity at the highest will be:
111) JJI{‘(G‘»Q’?A_;.E@J/’J@@/JUQ —10ms™* o » s 10ms 4 10ms~1!
ey
The value of [} for a solid for which o has a
value of 2 X 107°K~1 will be: Q
iv) cd e @S Lt b L E P L] 2x1075 ‘4' 8 x 1075 8 x 1075
.« * -1 -1 / K-— K_..
Se@ g e Luioe 2 x 105K @o 8
‘ B i O
d/)’b—b" | %
Using gas heaters, rooms are heated by le'ﬁﬁﬁuction Convection Radiation convection
convection and radiation. > and radiation
V) Lla“ér'/fa_%)’ _____ < c:-d ’{ u:(jJ/ diﬂ)ldﬁgf gy”iidi; u:{/
T v A
__ of the following is th [lest quantity. v
' 4 01 2
V1) - (- N L 0.01g mg 100ug 5000ng
Two equal but unlike parallel forces having | A couple Torque Equilibrium Neutral
different line of action produce. equilibrium
Vil) ﬁdiglJTJU(dsz;Jlﬁ:Jvuldgd)lw‘n K ap PRI PRIV
_ugjﬁw,«;
A boy jumps out of a moving bus. There i1s a | Towards the | Away from | In the direction | Opposite to the
danger for him to fall moving bus the bus of motion direction of
motion
vil) |, P ¢ il ‘. ,
_;}w)-;iw-q_bbﬁju@;a_uﬁufdﬁﬁwbg d/u"d:fujf e - uﬁwJJf MJVJJ/"
eSS S Jl 5
The efficiency of solar cell 1s: 7
1 - .S, 0 0 0 0
Rate of change of momentum is called: Torque Distance Mass force
X) SIS S Sk ol b gV
The density of substance can be found with Pascal’s Hooke’s Law Archimedes Principle of
the help of Law Principle floatation
X1) :‘;.&CLfJ (}V&’*~5J 2|y L F L | w6 L | JmZuets | edm Ll g
— / —
The altitude of geostationary orbits in which
communication satellites are launched above
the surface of the Earth is: A3 7300 K
X11 ; 850 Km 1000 Km 6400 Km
) z_/'/u’;/r:;fwu/&rfu*u’_uld/ﬁ v

_‘;.dn;,ui’}ffd,cw/uug
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Subjective Physics Paper Group II Gujranwala Board 2024

Roll No. ( To be filled 1n by the candidate)

- thy st oh
Physics SSC (9*) 1 Annual 2024 . U P4
PAPER -1 (Subjective Type) Group - 11 pak(:'tY'org%D 1 P Y
Time Allowed: 1:45 Hours Maximum Marks: 48 48 : // £ 1:45 1299

( SECTION-B ,'».-ﬂ?)
2. Write short answers to any Five questions: (5 X2 =10) :éj; /" aglzéauuyég :’.J;( -2

1. What 1s meant by the least count of an ¢ | /géd;ggw C T i

instrument? L ) )

ii. Define Atomic Physics and Plasma Physics. EEy PSSP i S i

111. Write down two rules to identify significant 2 ys :-?L—”d/ Uy Hrz; 1ii
figures.

1v. Describe two situations where force ot friction 1s e afesan 2k Lf“( PP EE Y oS AV
needed. | ‘

v. If weight of a body is 147N, then find its mass. ¥ U 14TN 6 L v

vi. Write down two differences between mass and 2 33 3 T Vi
weight.

vii. With what forces does an apple weighing IN Ce (52 o )b v;;f e INusE2 s Vi
attracts the Earth? act : A

viii. Why is the law of gravitation important to us? @ S AU el 66 Sy viii
3. Write short answers to any Five questions: (5 X @0 :£4 /" .:*.,Ll;‘zz:..wlréka.éf -3
O & »

1. Why we can not add or subtract vectors Fudg PO A Susis A s ;{,(fz 1

scalar quantities? % 0L

11. Write down the use of LIDAR gun. @ & JE-1K uf LIDAR .11
gexample. _’é;J&uQJ;lé,nyjf&ﬁﬁ’!; 111

111. Define vibratory motion and

iv. [sINm™2 = 1Pa? It yes g Suiu 1t INm™2 = 1Pay iv
v. How liquid 1s pushed up; when we use straw to ?a.@’i’d//;lét?u??_z’_/j[.!}/gtﬁw v
drink? I\LJd/i T T
vi. On which principle ships and boats are designed? e el Azied Z U U iz $ 5 Vi
vil. Where are substances used 1n daily life? S v ut,f /*’-.!;J!u.’: J £y s VI
viil. Write down the names of expert thermal climber ol ot Liisiy /:jLK J Z b viii

birds.
4. Write short answers to any Five questions: (5 x 2 = 10) :é,; /" .:...y,zé.:.,myéga_éf 4

200N
c-== 20em -~~~ S 2 b 5
i. Find the Torque. ) " '-éf’p"“'“"‘j“m -

ii. Define equation. Give an example of a moving JV’J() d..'b(f tnd Sl oy UL SAI i

body which 1s 1n equilibrium. e LS £ 925,
iii. What is meant by elasticity? Sl e 5 i
1v. Define energy. Write down its SI unit. g L ySIEU cébgg /7 J Ssl v

v. A body of mass 10Kg 1s raised to a height of Sm fLQ!J&AJSmadﬁJf/J£Jl-ﬂjrg10 v
from earth. Find its gravitational potential =~ X

energy. AP IV AT CU TV P
vi. What is the SI unit of power? Define it. Sy ISt Ve ySIEnL i
vil. Differentiate between temperature and heat. _é JuD S S 7 ) y /:./ Vil
viii. Convert 50°C temperature into Kelvin scale and V4 LJ:C A f"JﬂC S 4 50°C viii
Fahrenheit scale ot temperature. N
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(SECTION-C /»_»)

Note: Attempt any two Questions. (9 x 2 = 18) S ey 3 s
5. (a) State the law of Conservation of Momentum and _ JE sl 25 e 96 K o L fb"/ v (U5
prove 1t with an example. T
-é&:ﬁ"
(b) The value of g is 4ms™ at a distance of 3 So., 4l Z10000Kme s L ot (&)
10000Km from the centre of the Earth. Find the =~ °
mass of Earth -éfﬁj"" J LK&}_QA-ms‘Z
6. (a) With the help of speed-time graph, prove that e e salbi S K"E._ e (UID-6
2aS = Vf2 — Vj? " 9ae _ UEE 2
(b) A student proses his palm by his thumb with a SIS0 ST5N e & Fio rlc bl ()
force of 75N. What would be the pressure under ' o T e
his thumb having contact area 1.5cm*? 1.5cm? & L EHL U e b 5
P P P
7. (a) Differentiate between the following 255 Y TS0 (GNT
a) Torque and Couple o o
b) Centre of mass and Centre of Gravity JZ-C:I.J?E’(JI
&*szT/{WJJlJLuJT}:’(H
(b) Normal temperature of human body is 98.6°F, _ < kv 98.6°F % PRI K JUr ()

convert 1t into Celsius scale and Kelvin scale.

\ -éJﬂz‘:"Jdﬁcuﬂ,’U:Cu/?
o@pakcity.org;%.a @c@@% <>@
>
S
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think 1s correct,

fill that circle in front of that question number, Use marker or when to fill the circles.

( SECTION-A )i »)

Q.1 Questions (A) (B) (C) (D)
The correct equation of motion will
. | Be Ve — Vj V; — Vg Vi — Vi VE + V!
1) p = at v = at — a2t2 =
:Jﬁ’f&'}L«”MJ,ﬁJ&J/j
The number of significant figures in
ij) [0-031s: 0 1v 2 3
e oL S Uy 42410303
| The unit of force will be: » . 9
111) K s I3 Ns Kgms Kgms Ns
The values of rectangular components
Fy and F; of a force F are 6N and 8N,
iv) thf”magnltude of;f(i)rce will be: | 48N <g 1ON v/ 100N
Jf{’JFyﬂlFXu‘“:};,‘(dﬂféFJﬂ’u{l <@
IjﬂjlﬁfJJ)}ru,?SNﬂﬁN /;@
The value of gravitational field Q;gzjéro
v) strength near earth’s surface 1s: Q@ 6.67Nkg! | 10Nkg~1v' | 8.9Nkg™?
PR PINS ) TSy P g
A body of mass 2 kg 1s pl n the -
table 100cm high, t@%‘f its | 50 joule 20 joule 400 joule Zero ‘}oule
.. | kinetic energy 1s:
V1) B ; - :
- VW 22 01100m~ LIk £2 | U250 J#20 J2400 J7 p
‘1;_,(5/1._,%3(&/
The graph which does not obey F e r
,, . ‘[ F s
vii) Hooke’s law 1s: } | : I — r
. . = % X
:f_.ast‘ﬁdjfﬂu):’ﬁ'g..{,{:uz_jl/ 8 i
| Water freezes at: - — — g
Viil) =gﬂwc§-t’l€d~5£{j’/fbuﬁ&g 32°F
Metals are good conductors of heat Free Big size of | Small size Rapid
due to: electrons their of their vibrations of
ix) molecules molecules | their atoms
e 6l I e LR | T AL | L | ALY
v p B s =1
A force of 20 N produces an
acceleration of 2.5ms™“ in a body.
%) The :’nass of the body 1s: | 10 ke 50 ke S ke v/ 0.25 ke
L AM 25ms2 0t L3 §20N
{210 LK()* .:;;.J/
| Normal human body temperature 1s: v — - 086 k
X1) :-:;_/;/.;’?(’*&Uw@f"gm 310k 7 7 .6
The unit Nm used for torque can also Power Efficiency | Momentum Work
Xii) be used for: '
:Jﬁo;%tgﬂﬁigxiﬁ”u)'m#ébﬁﬁ’ Nm &-¢ 1 U):JLEJ*I (b"/:" SV
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( SECTION-B (»_»)
2. Write short answers to any Five questions: (5x2=10) Z:/ L ....,uyé._.,myagdf -2

i. What is international system of units? S VT Sy
11. Define least count of vernier calipers. ‘i‘uj&:i/é.f.ut{ 26 u‘:( Ao i
li. Why do we need to measure extremely small ¢ 3, .7, >0z ), UA L B Lt i
interval of time? ¥
1v. Write down two advantages of friction. -"&G,fl}::éff 2 oiv
V. What will happen 1if all frictions suddenly ¢ sl u:"‘l? v FJ JLEIP? q B
disappear? '
vi. What 1s meant by 1solated system? sl /y/a_f‘/ 2T i
Vil. \Y;'lc)é Odoes the value of “g” vary from place to ¢ ‘;___J sl ¥ LU e ¥ :.«fd/“g” i
place’
viii. What is Global positioning system (GPS)? S T By v

3. Write short answers to any Five questions: (5% 2 {@ i/ L ....,uyé...,myaa_éf 3
1. Draw a distance-time graph which shows a o -~ / 6 b SIS 0 S 2 S e T Ao dobifi i

variable speed. %Qg
11. Differentiate between speed and velocity
1t ted

_éugajj&ﬂ5zjlé; 11
?‘.;;.Cgtggﬁwa:fflffumﬁ}f; 111

i11. How can vector quantities be repre

graphically?
1v. Define deforming force. ¥ _é - /7 d/ w}ﬂ;@j 1V
v. Can we use hydrometer asure the density ¢ wé /'/(‘)l”'&"'z"?(fmsf .y J ey j,,-wg v
of milk? ) o
vi. Define elasticity and give an example. _'zéjdt'i»_xj;;lé._g Vd J S Vi
vil. Differentiate between land breeze and sea 3 Y /rﬂ) Y. f"j vii
breeze. S *
viii. Why transfer of heat in fluids take place by ¢ ‘:_qu: Jf Uil :_di{ e 7B Vi
convection? ‘ ) S

4. Write short answers to any Five questions: (5x2=10) 2{ / }' =\ 2L =l yék ;_J 4

i. Define centre of gravity. Sy LGS ST
11. Differentiate between like and unlike forces. _2f O )f,u" LU Ly i
iii. Why the height of vehicles is kept as low as ¢ dof U JIE oSS U i

possible? g " ; 2
1v. Define power and write its SI unit. e N 1 u’mlé -/ /3 d/;;g 1V
v. Differentiate between sound energy and light LI AN EI N
energy.
vi. Why are fossil fuels called non-renewable form e bl Ut Faid JetS G I8 Vi
of energy? - o
vii. Define internal energy. Sy G aS E i
viil. Detfine evaporation. _é_.gg /7 d/u?wg.gl Vi1l
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( SECTION-C (»_»)
Note: Attempt any two Questions. (9 x2=18) ..u:/ J’ .:-Ulm::.éﬁ..b]

. . 9 . , " - &7
5. (a) Whgt are measuring instruments? Explain meter e ooy 'y et m g_:._,U[ U)h (-5
rod 1n detail. ;

(b) How much time is required to change 22 Ns ; f] » (9INs A o S 4 . )
momentum by a force of 20 N. ﬂd:jr § su*(”'/‘ r)‘f( '
8 w6 &J@/[JJ,” J20N“A

6. (a) With the help of speed-time graph prove that 5. . _. SIS e sa L}/ s S fﬁ e (UID-6
2ac = VF — V& ) V2 — V2
1

(b) A student presses her palm by her thumb with a +, J6. 73 (15N & jf, o 1 # I 0 (D)
torce of 75N. What would be the pressure under St J = %' Hi =

her thumb having contact area 1.5cm?. 1-5CH‘12§ LEhL U1 -« bl S Jff
?Kﬂﬁfﬁ.éuuiéwi
7. (a) Define resolution of force and how can a force 4 7, B d/f o J /;} J 8 T u: Yo (DT

be resolved 1nto its perpendicular components? " ..
fe (P LA AT Lo L

(b) A block weighing 20N is lifted 6m vertically L1 6m b § 2o Tsf Ik 333 20N L1 (&)
upward. Calculate the potential energy stored 1n R

it. e S Y 25U e

keity. o)
u%pa C org%a O%ggO
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number, Use marker or when to fill the circles. Cutting or filling or two or

more circles will result in zero mark in that question.

( SECTION-A /.»)

Q.1 Questions (A) (B) (©) (D)
One megameter 1s equal to:
i) 10m v 103m 10°m 1(12m
=B YV V4 éxug
See-saw 18 an example of: Rotatory Circular Vibratory Random
ii) motion motion motion motion
:;:_.Jlfv‘agllf-d cj&}”d/jfu u:}"){/ jrdﬁ/f’b v J“)”(},,J
The resultant of all the forces Gravitational
acting on a body 1s called: Net force | Friction force fr Force
111) .
el e St S A oo | e *
[ . it o /@@A TS 8 S JP
‘ Q
) Inertia 1s related with: ) Mass ng ~—Force Weight Energy
ce AL P SAPAN i sih 3
The value of sin 30° is: #q%y - 0707 7
. . \2 . , .
V) e (xed §Sin 30° (\/@ 0>
The value of “g” on Moon 1is: A
vi) ) 10ms™2 | 1.62ms 2V | 3.7ms™2 3.9ms ™4
i AL
“ Rate of doing work 1s called: Energy Tarque — Disay
Vil) )
e ST SELS s g e J? v
Mass- lon 1S:
| ass-energy equation 1S - o
viii) ) E=m?C? | E=mc?Vv E=— E=—
= W PSS : :
Hydraulic press works on: Nexlwton S Pascal’s law Arcl}lmede S | Hook’s law
ix) aw principle
e bRy | oLy | LY | Ul vt | uls L
Unit of heat 1s: Watt Kelvin Joule Ampere
%) :cg_t‘ﬁﬁﬁggajli L9 UA‘/ Jz v /i;{"
Absolute zero 1s equal to:
xi) 273°C 373°C —273°CY 0°C
::;."...l?"!’f/,l/,,!{juidj..!ﬂ.:.el
The thermal conductivity of ice
xif) |15 35wm~tk™! | 0.7wm™1k™! | .7wm~ k™" | 0.8wm 1k}

PP Py

v
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( SECTION-B (y.»)
2. Write short answers to any Five questions: (5x2=10) :é4 } agnziauwégéﬁf Y,

i. List out any four derived units. S Fluy K320 3 i
11. Nat:lle four prefixes which are most commonly _ufg (té'/gd z thdI;LﬁJLﬁ"l(b 11
iii. ;\S}iy' We use zero error in measuring ?u.fl/u{JLJ"gu.‘Jﬁ/JJ#UT?E-(‘? Er
instruments’?
1v. Define momentum and write its formula. _.uf"g I 66l S P i (J’“"ﬂ/ LN \Y
v. Write two advantages of friction. ..uf;g  Linl S v
vi. Give two examples of third law of motion. _qj;u-i't"?n J ST~ Vi
vil. What 1s the relation of ‘g’ with radius of earth? -é O1% Jl; e Sods Ll e d/ ‘g’ vl
viii. Define satellite with example. ey Sy ek viii

3. Write short answers to any Five questions: (5 X 2 —@ é PFAC ._...LliA:._,Uly th__df )
1. Define translator motion. Give an example of it. @ ...ZLJJL»J J Jl- é.cu g d/ VEat /p 7 i
?\”\9 L

ii. Draw a speed-time graph for a body m f) L nl S oI7 A LR M FY
with uniform acceleration. 2t i ot

@

iii. A car starts from rest. Its velociy becomes i+54-c QS0 St/ /e oo, KLl i

—1 = . . 3 & “ b
20ms~* in 4 seconds. Find it leration. _ér}bfﬁ/@%g_%d?ﬁ 20ms 1§ IS
iv. Write two importan ures of kinetic Lot Feedl P WS Ui e J6 Ll v
molecular model of matter. A Y X T |
v. State Hooke’s Law. S YL IEE v
vi. On what factors, the pressure exerted by a liquid St 2 s K Z2. i

inside 1t depends?

vii. How does the rate of flow of heat vary with the LU/ S LU S L.‘(.'«.}'/“Q JISKE T i

) . : 44 .
cross-section area of the solid? ¢ < bt i1

viii. How the convection mode of heat transfer is — e e WS B Ees JE i

different from conduction? ¢

4. Write short answers to any Five questions: (5x2=10) :é,; /" aylﬁﬁmmrége_éf A4

1. Define clockwise moment and anti-clockwise _é . /JJ S I S el i
moment.
i1. Define unstable equilibrium and neutral SE IS » Lt F 3
e S P SEA I ARG 2 i
equilibrium. S A0 % L
im. How can a force be resolved i1nto 1its s/ ST ’Lf Sosf L1 d Uas dj S é Cs 47 i
perpendicular components? Explain briefly? e (FLU I b
iv. What is meant by soil-erosion? Cesl P e 3G
v. Ditferentiate between magma and geo-thermal L3S LEEHS A S ~
energy. " i
vi. Write two uses of wind energy? -“&a = WE 1 G % Vi
vil. Define latent heat of tusion. Write its equation. _“&G ..:..J}L-»*d/ u’wé - /7 J .:..«;l](_?; J M Vil
viil. How cooling 1s produced by evaporation? ?(_;;_@yzl,g:d"/ S ,i’:a?.-:_u"tff,gi Vil
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Note: Attempt any two Questions.

( SECTION-C

F ¥ D)

(9 x 2 = 18) SIS elirne (fiad

5. (a)
(b)

6. (a)
(b)

7. (a)

(b)

Write a detail note on screw gauge.

How much time 1s required to change 22Ns
momentum by a force of 200N?

Explain the working of Hydraulic press.

A train starts from rest. It moves through 1km in
100 second with uniform acceleration. What will
be its speed at the end of 100 second?

Define evaporation. On what factors the
evaporation of liquid depends?

Calculate the power of a pump which can lift
200 kg of water through a height of 6m 1n 10
seconds.

a%pakcity.org%n

%5@
ﬁ@

@@3

_ufa ¢JH Ll @Q/ﬁ (N5
Lo Nadw §22Ns 5 £ 767 ()
€ v K 9 S200N L
_Q/wu;JL/(KLJ«{,J:;EQ (-6
WP VEFY-1" Py M SOEPN S A O
¢ L1 HE 100 24 £ Mz
gngféLﬁJ;)i? 100-4;_&/&,1-4(5

A
SIS s S Py ()7
?z_:_l?}’c‘,::dlf

ES Lt S6m L £10431200kg g L1 ()
e i

©
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number, Use marker or when to fill the circles. Cutting or filling or two or
more circles will result in zero mark 1n that question.

( SECTION-A Jii_»)

Q.1 Questions (A) (B) (O) (D)
A measuring cylinder is used to Mass Area Volume of Level of
i) |measure: liquid liquid
ﬂa.l:‘lagﬂl’”c:..;ib(?k: J L (;KéL v Jx'fél.
The motion of a clock Linear Vibratory Rotatory Random
i) Pendulum 1s: motion motion motion motion
e dnf bl S| Ird A TrEEAY | TS E F e
Formula of momentum 1s:
iii) P=ma p = dt P=Fxd P=mvvY
:‘:;‘._U)/'Jbg(“ I
Which force moves a body in a | Centripetal Magnatic Gravitational | Centrifugal
iv) circle? force for force force
?ﬁ;.gjb;dzé.jb[(;‘gf/};du:r JJ}’J’%"J}" v Ay JJ:’J;‘:JZ/’; Jxﬁ’fﬁfd}:’
SI unti of Torque is: 2o Q@Oﬁ B B
V) ..q_:.«fzSIK._ﬁB’ N.mﬂ N N Nm Nm
Value of ‘g’ increases with the Inc in Increase 1n Decrease in | Decrease in
altitude altitude mass of the
o) body
eyt | alnfli | Lafuws
v
—
The kinetic energy of a body of
mass 2kg 1s 25]J. Its speed 1s:
Vil) 25) G H@éng)bgLr,j}Kz 12.5ms™ 1! Sms~1 v 25ms~1 50ms~1
Lntedy i
At the depth of ‘h’ The
.+ | pressure of a liquid is: 2 3 PS
viii) | P q o ngh pgh ™ Pgh v
..;ﬂ:_/,l,z;/"?./?gdlu(:dlfh’
| The density of water 1s: . — 3| 100kem=3  Okorm—3
1X) -95’”"56/&&, 0000kgm™ | 1000kgm 00kgm Okgm
The crocus tlower open at
x) | lemperatre. 20°C 21°C 22°C 23°C Y
_%Cw/,;:.ufi,gjju’v;{(cjlﬁ)
Which of the following Copper Ice Water Mercury
material has large specific heat
X1) J}‘gmjl]d/iff‘//ﬁijgjﬂ /;( -/ d&‘/ Lf/(/
..(?‘..o}p
What 1s the reason of gliders to | Convection Radiation Conduction Power
Xii) stay air.
?+g:gJ4;uﬁlﬁ£};@'L{ u:g/\/ (ygldi; uy/i-’/ ﬂg
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Subjective Physics Paper Group I Sargodha Board 2024

Roll No. ( To be filled 1n by the candidate)
Physics SSC (9™) 1% Annual 2024 U P4
PAPER -1 (Subjective Type) Group - I LB | 2/
Time Allowed: 1:45 Hours Maximum Marks: 48 48 : // f 1:45 1299
( SECTION-B (y.»)
2. Write short answers to any Five questions: (5% 2 = 10) é/ (o ....,Lliﬁ...amrf,t:_df -2
1. Ditferentiate between nuclear Physics and ZE IS AL S A
atomic Physics.
11. Write down the number of significance figures (2) 2750.0 (b) 0.027 -39 S s 4 Al
in (a) 2750.0 (b) 0.027 )
iii. What is Net force. Give an example. eSS p e ey
1v. How the Least count of a Vernier Callipers 1s ¢ C.U'laL'(” dor L s I A s v
determined? ©otT " c
v. Differentiate between sliding friction and rolling B L u:f 5 By, d:/ BB v
friction. o
vi. Detine an Isolated System. Give 1ts example. e J Jlmé - /7 d/ (V j’ijﬁ’f V1

vii. We donot feel gravitational force between U S ven Lo Ll vii
objects around us, why? edwt s

viii. How 1s the centripetal force is provided to an (|, @,(IQC%M S B syt § 52 (s Fas o viii
artificial satellite around earth? What will be the gl -

value of this force? Q&% Qd/ r&fﬂﬁqf u’,;}u’lf'r_.gla
3. Write short answers to any Five questw: E‘ @ 5x2=10) éf/ L HL'?LHU’Y’CLL&}( 2

1. Define  uniform  velocity and orm _éuv/d’w/b(,rjbj),,g’u,r,wj i

acceleration. @
i1. What would be the shape of -time graph {3 / Fe_ L Lr’:’ Ll SeI7e fr IS, i
of a body moving with variable speed? Explain ~ - #
A F

brietly?

111. Define vibratory motion and write an example? el Jb‘».g;;lé -/ /7 J J’ HOAA N i
iv. State principle of floatation? Sy dIK £ v
v. Define plasma. Write two examples. & dt‘u»;!é =y S btk v
vi. Explain briefly with example that atmosphere e O A S 5’, e J& A vi

exerts pressure? | ¢ '
vii. Why does a cup of hot tea become cold after s e tlostl b an s B SEE - F
sometime? © oo F
viil. Write two uses of convection currents”? -é/:, /“ aUWlﬁ:d:uj‘ /i J"’g ¢ viii
4. Write short answers to any Five questions: (5 X2 =10) :i‘g j" @leﬁmuwékcéf 4
1. On doubling the momentum, What will be the i el S e o S }((, Tusas 3
effect on the value of Torque? =T
i1. Detine clock wise momentum? sy S f””: #JE i
111. What 1s meant by trigonometric ratios? P s U SRS
1v. What does a force do work? ?.‘a.(}/ (Kg..:p;" LI v
v. Ali pulled a box through 30 m by applying a 0 —F30msU/\ iz 2 G=d S400NF v
tforce ot 400N, tind work done by Al1? W /|' =
vi. Detine Elastic potential energy. _u/‘/ 2 /7 d/ . lef“ bﬂJ/dU«l A%

vii. How wind affects Evaporation? ’*”a_dmul/ic )’u/ I J’ ~sedl Vil
viil. Detine volumetric thermal expansion? “@ pakmty orgl%c’ ?Q/ ;-_&L.a;d/ 11%4 dglijrx,'l; viii
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(SECTION-C /»_»)

Note: Attempt any two Questions. (9 x 2 = 18) S elyrne (iad
5. (a) State and prove law of Conservation of 5 e B 25 e IE ));'/ L(ﬂf v (UN-5

(b)

6. (a)

(b)

7. (a)

(b)

momentum.

Find the gravitational force of attraction ~ . 100Kko /lK_(] 20 70 (D)
between two spheres each of mass 1000kg. The - gULl s i Lo e (&

distance between the centers of spheres 1s 0.5m. d{j uwéuf-%o.s b n LS,

Explain translatory motion and give examples of . (., /", | ufl:"» 1 o5 AN, /:;JJ, (-6
various types of translatory motion. ) .

The density of air is 1.3kgm™>. Find the mass of 8 X 5m X 4-< 1.3kgm ™3 S s ()

air in a room measuring 8 X 5m X 4. p
Eekginy st SFEF
Define couple. How can you find Torque due to (5 gy Plage 14 o JJ/ sl S Jf (-7
Couple? Explain.
S ol bl

How much heat 1s required to increase the £ 65°C 10°C AT /70 5 (L)
temperature of 0.5kg of water from 10°C to = G 6 i '

65°C. ¢ JJKJJJIMU/JHJI/iZ:LLr/
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fill that circle in front of that question number, Use marker or when to fill the circles. Cutting or filling or two or

more circles will result in zero mark 1n that question.

( SECTION-A /.»)

Q.1 Questions (A) (B) (C) (D)
) SI unit of electric current 1s: Second Ampere Mole Meter
1
S ySIKe S S A e G Jr H
The motion of a body around Circular Random Rotatory Vibratory
ii) its own axis 1s called motion motion motion motion
< QWS () s, Lf.ql%_l T A e TrSELY | TrSaAl
| SI unit of force 1s: Pascal Newton Kilogram Ampere
111 , y )
. _4:;.¢ﬁ§SIKu’n’ ‘J{“E gL Y f'l/:g /i..’::l
The formula of a centrifugal , , ,
iv) force 1s: . 2 I Y 7 mv
_ﬁz.Ur;GKijfx,;d/i’ my r/na\ @ r r
First condition of O\/ .
V) equilibrium 1s: ZTZO %@on/ ZF_Xzo Z%zo
-{-—fﬂ/ tﬁ"‘: J -/ Lflg ’ Q{@ ’ i
Earth’s gravitational force of - .
. ; Infinity
vi) attraction VﬁlllShe‘S‘ %t @Okm 42600km 10000km
_ﬁ;_dbﬂ_}'bu’)iﬁd{’//b(%® it v
The K.E of a body (w‘ﬁu
2kg 1s 25], 1ts speed 1
vii) ..;;-.25].@‘&’5/‘_{(’?&.{11(1/5%2 5ms~! v 12.5ms™* 25ms™t 50ms !
t§ntrdU
Einstein’s mass-energy
viii) | €quation 1s: E = mc E = m?c E=mc?v E = m?c?
e bl A NS T T
According to Hook’s Law stress X strain SHTESS strain stress
- strain _
ix) = constant D— e S:trgggstant — sontant
JW&U?G‘LJ{ U XL S OV U~ » X constant
— ERHSEATE = constant | —— = constant
oL S
The range of Clinical
x) | [hermometer is: | 20°C—42°C | 25°C—42°C | 30°C—42°C | 35°C—42°C
?“;_.dyz@'; d/ A /3 é‘ﬁf{ v
| On Celusius, 300K=? N - >90c D6oC
¥ 300K=2t kS5 S | 4T
Thermal conductivity of
Xi1) wood 1s: 0.08Wm™'K™*| 0.593Wm~1K™ 0.03Wm~ 1K1 | 0.8Wm 1K™
e GBI v
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( SECTION-B ,'».-ﬂ?)
2. Write short answers to any Five questions: (5 X2 =10) :54 /" agugéauuyég;&’ -2

1. What 1s meant by significant figures of sl U e Uy R Al He dj i
measurement’? : * >
i1. Differentiate between Base quantities and Ce AU B A Gl i

Derived quantities?

iii. Why do we need to measure extremely small O%U% =22/ St U s O LD 27
interval of times.

-
1v. What 1s force of Limiting Friction? ?%Gﬁuyf K/ c..f( )ji’wcu’y /JL?I 1V
v. Why rolling triction 1s less than sliding friction. ?‘;‘*_.Jyzu{ K/ :__J'/ ¥ fi’LVch Al v
vi. What is law of intertia? et /UELEN Vi
vil. State Law of Gravitation. B YL UIEE u;j u’gf Vil
viii. Write two uses of Satellite. ®) e Lo vidi
3. Write short answers to any Five questions: (5 %20@1 0) é/ L ..,Lliﬁuvlyf/tc.d;( 3
1. What 1s meant by terminal velocity? O%% 3B e
ii. What is LIDAR gun? %&5 fe /CINLIDAR i
iii. Define Acceleration. Write its SI un S AN i
iv. The mass of 200cm? of St 500g. Find its 6 U1-<500gUL6 4 el 200em>fi iy
density. st - Jor &Jﬂj
v. Define Hook’s Law. Sy S v
vi. Why does the atmospheric pressure vary with S boaud AL Satk 2 S Vi
height? A ) T
vil. Why does see breez blow during the day? Why Ui 4‘-355*'16/*(") ?‘f—-Jl‘f ore 5550"&5/(“) Vil
does Land breez blow in the night? Py
viil. How can the temperature in a green house be ¢ . et PSS g P S S i
maintained? C ' o T

4. Write short answers to any Five questions: (5x2 =10) :Z,:4 f* agmiauwégaéf 4

i. Define Resultant force. Sy Pl sdey
11. Differentiate between Torque and Couple. ..."'ja’_: Gl /'u:fjiuluﬁlf 11
1. Under what condition a body 1s said to be 1n Ce b b d/é s £y Jf) Sy i

Equilibrium. ‘ ' "
iv. Define Renewable and non Renewable sources - }Jépjijju,«? JElsiass FE v
of energy. T o o
v. Define power and write its unit. & i L6 1l i._.y /7 J;;g .V
vi. Name a device the converts mechanical energy U~ N TAVN Jfﬂ PLEU 1Y s i
into electrical energy. el Jobie
oo . . aKCi -or Wi | . . o
vil. Define internal energy. G@ P ty g 9‘3 _é._;'q U J EAS Fovil
viil. Write difference between Heat and temperature. &l 32 e ) 7 sl y /:./ Vil
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Note: Attempt any two Questions.

( SECTION-C (»_»)

(9 x2 =18)

-4 /S J’ @Ulf}):.é:@..b;

5. (a)

(b)

6. (a)

(b)

7. (a)

(b)

Find Tension and acceleration in a string for
vertical motion of two bodies attached to the
ends of a string that passes over a frictionless

pully.

A communication satellite is launched at 42000
km above earth. Find its orbital speed.

How 1s kinetic molecular model of matter
helptul 1n differentiating various states of
matter.

A train moves with a uniform velocity of

36kmh™? for 10s. Find the distance travelled by
it.

On what factors the evaporation of a liquid
depends? Explain.

A motor boat moves at a steady speed of 4ms™1

water resistance acting on it 1s 4000N. Calculate
the power of its engine.

©
@@3

%@
Q@

b iy /| (#ﬁkﬁmﬁ Je$as5 (-5
U LEmbe plaingl Stz
Y (e
S 42000km < oA LAk u/'U’ £ (&)
ek e ST S S s
b chﬂ’. Z L/&’j S UPe U Sl (L6
S b s bl U AU B
10se sty 36kmh=1er /L ()
e holins S K 1 FUGEF
Ce bt g 17 S AP o SO (7
_éugc.wuz
o7 e o 225 SamsT Lyt (1 (D)
U‘“%d& s L/Jj/;.u" & 3
2 e $ A1 L U1 4000N

o@pakcity.org 90
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle 1n front of that question number, Use marker or when to fill the circles. Cutting or filling or two or

more circles will result in zero mark 1n that question.

( SECTION-A /.»)

Q.1 Questions (A) (B) (C) (D)
The number of base units 1n SI
i) | ) 3 6 7Y 9
-La.;lﬂd/u"gfd)‘lfh_)fSI
| A change 1n position 1s called: Displacement Velocity Speed Distance
11) HMJ’ o s, H:_‘,A-L b / Z b .
e QWG Uy | eem U A ol
Rate of ‘change of momentum 18 Torque Force Mass Distance
iii) equal to: ) |
_%dﬁ414c;d/$_,g'u:(‘ff Ik u’x}" v Jl ol
The formula to calculate , , ,
iy) | centripetal force is: P 1V . @%_ ¥ o m<v g mv®
Gy ¢ . G r2 C C = ” C — -
_f.;;_ur.szL/(}’”uv!Ji’:d}r o)
The number of perpendicular A\
. XY
y) | components of force are: 1N v 3 4
_é.)lﬁd/ﬁ:x,fd)}fé(/ﬁgj)gﬂiu)/ /\QQS@
The distance of moon from earth UO Z
vi) |15 >880,000Km | 370,000Km | 360,000Km | 350,000Km
_§.~L"Gr_‘.. v
The energy stored in @w@ﬁn\"’fs: Electric Potential Kinetic Thermal
vii) energy energy energy energy
The efficiency of an ideal system
viii) | 15 P 100% v’ 200% 90% 10%
e b @I e
In SI system the unit of pressure
ix) |15 Nm Nm? Nm™? Nm~2v
e bnasgf i Sl
Water freezes at: 0°F 32°F v OK —273K
Y e beerday i U
Which one of the {following
material has large specific heat? PpeL e Yaer Mereury
X1) Jbgﬁjﬂgajl]u)l/)gj}fuj/;ufc)l X
w 1 i dy v $/r
e : :
Global warming 1s due to which Carbon Carbon .
0 Oxygen - . Chlorine
xii) | £as: ) dioxide monoxide
?a:;..dﬂd—,?}(jﬂgf’/jﬂjj}g f“{f fLﬂdﬁc)ﬁJ{\/ fflfﬂj}"d)g Q:J)J{
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Roll No.

Physics

PAPER -1 (Subjective Type)
Time Allowed: 1:45 Hours

u@pakcity.org%n

2. Write short answers to any Five questions:
1.
11.

111.

1V.
V.
V1.
VI1.
VIil.
3. Write short answers to any Five questions:

1.

111.

1V.

V1.
V1I.
V111,

4. Write short answers to any Five questions:

Subjective Physics Paper Group I Multan Board 2024

Maximum Marks: 48

Detine Plasma Physics.

List any tour base units with symbols.

Group — 1

( To be filled 1n by the candidate)
SSC (9') 1%t Annual 2024

U'KYA.—;/;
gl

48 & 581:45 1255

( SECTION-B (o)
(5x2=10)

:é4f¢§l££mﬂlrékc.éf-2
NSRS B
_ufga.::fl.ﬂujluflk:.fju(ui'{d)g)lg:.g[.ii

Why we use screw gauge to measure diameter of Je1 U 5'/ !./é L LS g o R BE L d'( Al

a wire?

Define dynamics.
On which bodies does Newton’s first law deal?

Narrate Newton’s second law of motion.

State LLaw of Gravitation.

Why we do not realize gravitational force around
us?

Differentiate between linear motion and rand
motion.

1. Why the passengers standing in a bus f ard

11.

on applying brakes suddenly?

o®

n and when does
e and negative?

Define gravitational accele
the value of ‘g’ become

Define Young’s Modulus
mathematical formula.

and write 1ts

. What does 1t mean when the atmospheric

pressure at a place fall suddenly?
State Pascal’s law. Write 1ts two applications.

State Archimedes principle.

Differentiate between elasticity and elastic limit.

(5 %ﬁm

(5x2=10)

et )
_Lgfb@/?d/u’(tflj 1V
?,_:;.Jwirwd(uil?%m"’f R
_q/ugy’/uim/»w:j V1
IS Sy vii
vz@:@ﬁ SEOAN IRt
:éx_}'@yzémwégaﬂf <3
_é@;u"}wf’rrkmluﬁr 2 i
Ut e § LT L6 L Bl fle e 5 U5 i

el
P oiesedSmes P S A M s/ i
?%Jﬂb‘f‘/

el U)”JGL}L?(JU;lé_{q /7 J u”,sjrﬁ 1V
?%r//;wmﬂf(;%fl(;{.4ufﬁ,j’kl4.§u/.v
AL G L - S
YL U6 A
_JLIU:J}.J:&)uEQJJ}lHLU
:é4/al,l£¢‘:aﬂirégc;éf_4

V1
V1l

Vil

1. Define Couple, write mathematical equation for 0. , . e J _,CLU{ s ‘CJ,{:,, S /3 J J,f i

11,

111.

V.

V1.

V1l.

its total torque.

Define second condition of equilibrium and write
its mathematical expression.

Does the ceiling fan satisty second condition for
equilibrium when rotating with uniform speed?

How energy 1s produced by burning fossil fuels?

. Define an 1deal system with respect to efficiency.

Write mass-energy equation and how can apply it
in daily life with example.

Why does a piece of stone sink in water but a
ship with huge weight tloats?

al,u(juJu’wé_@}ﬂ}d/mfé/d;ﬁ i
>

S SEASE LM e 15 = o pizgf il

St Slyds /

?ﬁ;.@m,ﬂ,édjl:.i.wﬂﬁd” 9

E e WS R Y

S L i f YTV ﬂé = lsla G-l

1V

V1
e

e 2 2GSl L% <t st SUFE A vii
?urf-:;-t'w
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viil. Differentiate between temperature and heat. T B e 7 sl p /:,’ V111

aépakcity.org%o ( SECTION-C (s .)

Note: Attempt any two Questions. (9 x2=18) ..q_‘/ J’ mﬂlr»:.éf:d.»)

5. (a)

(b)

6. (a)

(b)

7. (a)

(b)

Wh_at 1s meant by stopwatch? Describe in detail e ik /@bf&, ﬁj?(_f;_;;/ S e Bl ()5
digital stopwatch. : c , p
-

Ahe VAUIE G g I8 AEST At & Q008 OF figh o beg 7 (0 000K me. K Ll gl G
10,000 Km from the centre of the earth, find the ¥ ’ '

mass of the earth? -J/ SV U 4ms e
How can third equation of motion be derived ¢ <&, () L &) Sy 507 (UI)-6
graphically? o F )

The density of air is 1.3kgm™3, find the mass of 10m % 7 %_s 1.3kgm'35*’;~5gﬁyr ()
the air in a room measuring 10m X 7m X 6m. ‘

r:L”'JLKnlu?y‘J:L./L Jjg.. 6m
S

o

What 1s meant centre of gravity? Find centre of s ‘fﬁmg . _fl?c.)l/ S i ST A (G
gravity of an irregular shaped thin Lamina. o . v

1

>0

e ST e

L ad

A balloon contains 1.2m" air at 15°C. Find the __ ..., 1.2m1, 15°C te i J[ &
volume at 40°C. Thermal -co-efficiency of ¥ £

volume expansion of air is 3.67 X 1073K™1 W v 2 e 40°C sk
@.%-c ed o2 @ L s5ug Ju7

o
% e 1073K~1

%5@
ﬁ@
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L

15 il

Note: v, have four choices for each objective type question as A, B, C and D. The choice which you think is

correct, fill that circle in front of that question number, use marker or when to fill the circles.

( SECTION-A Jii_»)

Q.1 Questions (A) (B) (C) (D)
The number of significant figures
i) in 0.00580km 1s: 3 9, 3V 4
e P SUr £ % 0.00580km
A change 1n position 1s called: : : Displacemen
Speed Velocit Distance
i) H | P y t
e QWS4 e b S5 ot B2
| Inertia depends upon which? Force Net force Mass Velocity
) ey JAS S P JLY S Us
What will be the acceleration that
1s produced by 16N torce in a mass @
. of 8 kg? ( _ _
iv) , ) 2ms 2 v SMS 2 Ams 2 3ms 2
@J/Jjujﬁ’16N{’()'ug£JL|"'/!g8 %BO@
Qgﬂgﬁ)’g-ﬁ; ;&
The number of perpendicular %SQJ/
V) componf—ints of a vbe‘cﬁtor are: ) @ 4 3 v 1
_+dﬂ;tﬂJﬂ{d;J£}{@(§;>
Radius of earth is equal to: ~(\™
; nij(d:) 6.4 6.4 6.4 X 6.4 X 10°m
V) - " x 10°%km | x 10°km 10~5m v
Einstein’s mass-energy equation
vii) |18 E=m?c | E=mc?Vv E = mc E = m?3c?
-ez;.al:L#J.}l_JLJJU&JT
The kinetic energy of a body
having mass 2 kg and speed
5ms~! will be:
viii) ’ E 251 Y 5] 201 157
J 5mS_1o)z:lﬁ|’1/yK2JW()'of)/i
_jﬁ&)lu@‘JKJJl;%QJ/:H/]L,Qg
In which state, molecules do not .. .
lbsve their pasition? Gas Liquid Solid Plasma
iX) | & Fid ) A ke 5w el 7 / ;
P Or I Vel o JEY itk
¢_J¥
Normal human body temperature
x) | o 37°F 37°CY 98.6°C 40°C
e AAEF Qe e
Convert 60°C on Celsius scale into
-\ | Fahrenheit: 0 0 0 0
Xi) 122°F 136°F 138°F 140°F v/
SIS e é/;’édrc sl
In gases, heat 1s mainly transferred Convection | Conduction Radiation Molecules
Xii) by: collision
-ﬂa.t’yc‘h..a;*' {éjl]dﬁ}f/“ojkjutﬁ.f u:gr'/\/ dy/jf( Cﬁ"dif 5'%()’):9[.
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PAPER - I (Subjective Type) Group — II % pakcity.org %‘D A 1oy
Time Allowed: 1:45 Hours Maximum Marks: 48 48 : // £ 1:45 1299

( SECTION-B (1.»)
2. Write short answers to any Five questions: (5x2=10) :é,; /" @leﬁmuwék a_éf -2

1. Define Atomic Physics and Nuclear Physics. _“é__gg /'7 J f 53 }...! ;f;;lu/ ALl g
11. How stopwatch 1s used? ?ﬁ;.al? d/ JLJ'I&I Ehht- 11
. Differentiate between Base quantities and 33 S s 3 Psl sl i (.5 L
Derived quantities. ) -
1v. Define Momentum. Write 1ts unit. -"&Gﬁﬂw ,m"é 3 /7 d/ (L{ P\
v. Write two disadvantages of friction. _“é/ mtuﬁjjéuﬁr ;W
vi. Define Inertia. ..é: P Sl LA i
vil. What 1s meant by force of gravitation? Cesl p L. ::_,ﬂ dg/‘é TUsd il
viii. Why law of gravitation 1s important to us? Ce Al U ”L P TOrI ] ur’j d;jf V11
3. Write short answers to any Five questions: (5% 2 :@@ :é;; /" aglzéauw ék c'_(j:( -3
1. Differentiate between scalar and vector @ . “é S S sl /ﬁg’ s /g i

quantities. ) @O
ii. For what purposes LIDAR gun is used? @ ?cﬁ-dﬁdb}lé_d:ﬂl}’»d( JLIDAR i
ave FMh PRIV Py P RY-C) (V AT

i1i. Can a body moving at constant u@.

AN 7
acceleration” o

O "G
iv. Define Pascal’s Law. _benyuiﬁéfg v
v. Describe principles of floatation. Sykd LS g

vi. Explain how a submarine floats on the water FLiU J/"'Ld&.ﬁ'{.ﬁtﬁ/ B isaT S & =olos i
surfaces and dives down into water.

Ve
vil. Detine greenhouse etfect. _ébg /7 . MIJ:?IM/? Vil
viii. Write difference between sea breeze and land 3 "&6 33 f“) PRy rj i
breeze.
4. Write short answers to any Five questions: (5x2=10) é / /" =\ 2L =y é.l; 4.3 S A4
i. Define perpendicular components. AN u'j'f:;‘/ S
11. What 1s meant by centre of gravity? P s ;35/? T A4 i
111. Define moment of a force and give example. _u;;db‘»;;lu;/ - /7 J JAST ey ii
iv. How can work be done if a brick of 4kg is pulled & 4t FUbfSmea e LI, ASEL v
up a height of Sm? W ot S
v. Define heat energy and write 1ts some sources. _“é/éu}j.:éu’mu// - /7 d/ GAees WV
vi. What is the second name of a solar cell? How it P 4’;? ‘Lgrt, by Vi
1S made?
vii. What is the lower and upper fixed point marked <V Ve 7 206220y f 4117 ’Iéd*fc <A/l v
on Fahrenheit scale? How we take these values? bl 4 )
viii. Write applications of Thermal expansion. S s S 2 i

Please visit for more data at: www.pakcity.org



g%pakmty.org;%o ( SECTION-C /» o)

Note: Attempt any two Questions. (9 x2=18) _q_‘/ J’ mﬂlruaéi/:d.zi
5. (a) Derive an equation for the orbital velocity of a J'b’-,»T sy (12w S Ta L (-5

(b)

6. (a)

(b)

7. (a)
(b)

satellite revolving around the earth.

_éﬁimbb.‘iié{

How much centripetal tforce 1s needed to make a ¢ 20 L R 50ems A LT jS 00 ()
body of mass 500g to move 1n a circle of radius Fod g f) Jif '

50cm with a speed of 3ms™*? K d L SV frd 3msTiU
LS g SR

g;‘;);ﬁ that ve=v;+atby using speed-time  _ 4 fofpo (S Al (-6
| at

The head of a pin 1s a square of side 10mm. ., = ( 2 e U6 ()
Find the pressure on 1t due to a force of 20N. T Ju) T d/_: Ol E L LT
e U G20N ¢ L L 1« 10mm

LR B s
Define torque and describe it in detail. TSI sl Z2 oo S St ()T
Temperature of water in a beaker is 80°C. What 2 - 80°CA4 PIANYN Y B

1s 1ts value 1n Fahrenheit scale? b
@@ ?Kﬂt’:(é V4 jJ:C
O

sz@@
ﬁ@
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circle in front of that question number, Use marker or when to fill the circles. Cutting or filling or two or

more circles will result in zero mark 1n that question.

( SECTION-A (Jii_»)

Q.1 Questions (A) (B) (C) (D)
Least Count of Digital Vernier i
iy | Calipersis: 0.1 mm 0.0 ‘/mm 0.001 mm 1 mm
:%ﬁfgdﬁm‘{}/;gf;n s
| Which quantity 1s a Scalar Quantity: Time Force Torque Velocity
11) I.;;;.Jlﬁ/‘/&*‘cxl,&?’d):( =5 v P Ik U
| Product of Mass and Acceleration 1s: Inertia Torque Force Momentum
i) e PRI I By St iV e
_ SI Unit of Weight 1s: Joule Meter Kilogram Newton
v) FROL (157 U5 PV (lf A1 gL Y
The Steering of a Car 1s example of: Force @%Force Couple Momentum
V) . . 2o . @D . T
GL.JL-‘J/;’KJ{ Jﬁ’:{\@ JIr LS Jr‘/ (‘{3"
The Formula to find the Orbital Speed O%\(Q)
(Vo) of a Low Orbit Satellite is: %g@
vi) QJQWLIJL/J:/;%}QWL.@} o = gR Vo =8R* | Vo =+/gR2 | Vo =‘/\/gR
?Uy‘ ‘N )
The energy of a moving during Kinetic Nuclear Chemical Potential
vii) motion 1s called: Energy Energy Energy Energy
QWINPT Suml a7 | Galev | Gy | GakE | GaSEy
Which one of the following converts | Electric Bulb | Photo Cell Electric Electric Cell
Light Energy into Electrical Energy: Generator
e d/dr Ut
In which of the {following State Solid Liquid Gas Plasma
ix) Molecules do not leave their position:
LB Sy B S G El | UE Y el Vel Ltk
Boiling point of Water 1s: ) ) v )
X) =q-¢-ff«",;3ﬂ%&g 98°C 78°C 100°C 90°C
Which of the following affects | Temperature | Surface Wind All of the
| Evaporation: Area of the above
X1) Liquid
:‘:-_Jyz;m}‘% Ji;;;:.y TS S| w7 o LU= - 7 |30 ALl o v
| Which Bird 1s Thermal Climber: Sparrow Eagle Pigeon Crow
A 8 AES Pk 574 Lz — v 7 iy
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Subjective Physics Paper Group I Bahawalpur Board 2024
( To be filled 1n by the candidate)

SSC (9™) 15 Annual 2024

D@pakcity-org %‘3 A2 1

( SECTION-B (o)

(5x2=10) & feuzlelirbleds 2

i. Why do we need measure extremely small %_d/u/w;/Jaquﬂ J«"dwi_,,wf i
intervals of Time?

Roll No.

Physics

PAPER -1 (Subjective Type) Group -1

Maximum Marks: 48

Time Allowed: 1:45 Hours

2. Write short answers to any Five questions:

11. Detine Prefixes and give an example.

111. Detfine Plasma Physics and Geo Physics?

e gt P A,
Sy PSS PSP

11

111

iv. Differentiate between Sliding Friction and LIS uzf 5 {0 ‘f( BB v
Rolling Friction? o )
v. How much Force you need to prevent a Bag ?LJKJJJJJSU;(}KHTALLMLLjfiuG .
from falling? ‘ T ¥ CT
vi. Write two advantages ot Friction which you el _TER Py e u:f 3 v
observed. ) :
vii. Differentiate between Natural Satellite and LS LS et St et 38 Vi
Arthritis Satellite. T ST ST
viil. State Law of Gravitation. @ -é UL 6K Jg d:’j Viil

é//u“iéuml’cté—dl 3
_é»—e’/" JM(JLV}’ 1
..."&UU/J:MJ)M,L‘% 11

3. Write short answers to any Five questions:

% )

EJet ms Y 200kmhl
ey STzt P8 2,

S OV e UsaT il Uiz § A

Why does a Piece of Stone slink in water but a d.t.flf? d/dﬂ’“’f&?’:’%/wg < Cloaiys d.l:'}? 5~

1. Define Uniform Speed.

between Distance Q@

Differentiate
Displacement.

Convert 200km h™? into ms 1.

11.

111. 111

1v. Define Pressure and write it 1V

v. Differentiate between and Submarines.

vi. V1
ship with a huge weight tloats? U bl £
vil. Define Convection. -é - /7 d/ u:g s vii
viii. What is Global Warming? S (oS Bk vii

(5x2=10) :é/,/".:...wéauwétc.éf 4

Qa.L-(J( 1
_J/J/’Jd:’/_:l/“ 11
-Ufgdfuﬁf;/dlg’d/zm{.@(?

4. Write short answers to any Five questions:
1. What 1s Couple?
11. Define Center of Gravity.

11. Differentiate between Stable Equilibrium and iii

Neutral Equilibrium.
1v. Define Power and write 1ts Unit. ..Jf’d ._v;jKu’mu/ - /‘7 d/,ug 1V
v. Derive the Equilibrium of Potential Energy. -LZ/ Jole sl J S :; \
vi. Define “Joule” as Unit of Work. U /‘7 d/ J# i
vil. Define Latent Heat of Fusion. _u’/ - J =7 dj J ;UJ VIl
viii. Define “Evaporation.” _Jfg A u**;;g.gl viii

Please visit for more data at: www.pakcity.org



Note: Attempt any two Questions.

(SECTION-C /»_»)

(9 x 2 = 18) S elirne (o

5. (a)

(b)

6. (a)
(b)

7. (a)

(b)

Derive the Equation for Mass of Earth trom
Newton’s Law of Gravitation and hence
calculate the value of Mass of Earth.

How much 1s the Force of Friction between a

Wooden block of mass 5kg and the Horizontal
Marble Floor? The Coefficient of Friction
between Wood and Marble 1s 0.6.

Prove that : Upthrust of iquud=p g V

A Train starts from Rest, it moves through lkm
in 100s with uniform Acceleration. What will be
its speed at the end of 100 s?

Define Equilibrium and explain Second
Condition for Equilibrium.

A Car weighing 12 KN has speed of 20ms™1.
Find its Kinetic Energy.

u% pakcity.org%n o@@%o@)

%@
Q@

S ml SIS Sy Ky (s
§eim g Lot L3S b
e e 5 PAeU
flé//fjleﬁﬁdﬁdéqulijS ()
J:'dﬁdﬁfﬂujﬁ;gfufc}()uyx’ﬁjf
_.;.0.6‘_‘?(}__51‘&.:"&’;1/@@;5//9’56
UL = p e VIS et (-6
RPN VA Y1 SRS M| SN gl O
dob 2 11008 P L Mtz
e St Sor el n 1005 3/2
S 26l E skt y AEE A (-7
_é;&u;
60wt 20ms ™t S S 635 12KNL ()
AT AV
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Note: v,y have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number, use marker or when to fill the circles.

Q.1 Questions (A) (B) (C) (D)
Which of the following 1s the Unit of
i) Momentum: B Nm Kgms~1v’ Ns N1
:+u/¢;gK(“5r;uﬁJ,5@J;
By dividing Displacement of a : : Displaceme
Moving Body with Time, we obtain: opeed | Aceelerstion | Velowity nt
) | o /S ~""4¢§;f:,><.4:u’j£ * ._J/f"'u’( .
- o y» FA R4 BN
:q_l:‘yfd’i b
Amount c_pf a Substanf:(:{ in Terms of Gram Kilogram Newton Mole
iii) Numbers 1s measured 1n:
e S festi s oS " SE S Jr v
. Coeftticient of Friction 1s: F, Y R P F,
i A s
The Kinetic Energy of a body of CFJ/
Mass 2kg 1s 25 J, its speed 1s: %%
V) JJ;_,f__Qsjuﬁﬂ_,@JgJﬁugiﬂfﬁz : ?@ v 12.55~ 25mis ™t 50ms~?!
b = o>
The value of ‘g’ on Moon Surfaces
1.6ms~“. What will be the of a
100 kg bod the Surf, -
vi) i g o 100 N 160NY" | 1000N | 1600N
IOOkg{,,Clg..‘.:;_lﬁms‘ u»id/gx,i/&cg;
:%ﬁcjhg () ._{!L
The number of Perpendicular
vii) Componentf of a Forie‘is: 1 v 3 4
:g.dﬂ)lﬂd/u"f!{dnfé/}:{;oj
The energy stored in Dam 1s: Electrical Potential Kinetic Nuclear
viii) ) | Energy En{?}?y Energ)i Energy
e O e LA | GaLH | GaSEy Y | Gagdy | Gy
Which of the following Material has
ix) Large Specific Heat: Copper Ice Mercury Water
:‘;.Jbeﬁa;limk};uﬁJ,m;;JﬂUf /HK 3/ d/'//' dk v
Normal Human Body Temperature is: ] ) ) o
X) - ?../.-,jK()'JLJIJ;t 15°C 73°G 37°F 37°C
SI Unit of Pressure 1s Pascal, which 1s
equal to:
1) : % 2= | 10*Nm™% | 10Nm™2 INm=2v | 10*Nm™2
X1 /J/‘fgjﬂﬁz-fg&:ijg/*zéu:ﬁ}’f‘/ m m m m
e Uy
False Ceiling 1s done to: prer the Keep the Cool the Tisilate the
s aelgnt of the roof clean room Ceiling v
Xll) Cellmg clINg
ﬁ:_t'ﬂﬁ"&_@:»e’dml&y‘” L/{Jﬁlﬂl(}/&e’ L@C_JL:?[&Q’ L/(li;/x:_/ L/'/&;Jr’lf.:ﬁez’
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- thy st oh
Physics SSC (9™) 1% Annual 2024 U P4
PAPER -1 (Subjective Type) Group - 11 1 Pl Y,
Time Allowed: 1:45 Hours Maximum Marks: 48 48 : // £ 1:45 1299

( SECTION-B (1)

2. Write short answers to any Five questions: (5x2=10) :54 f @leﬁmuwék 4..3/ <2

1.
11,

111.

1V.

V1.

V1l.

V1I1.

1.
11.
111.

V.

V.

V1.

V1I.

V111.

What is meant by “GPS”? sl e “GPS”

3. Write short answers to any Five questions: (5 X @ﬁ% é/ L ..,Lliﬁ._am:/ th_df 3

Convert 20ms~? into kmh™1. %Qg g0t kmh™ 20ms™?
Write Second and third Equation of moti%© ..uf’g sl 2 sl 79 d/ J' ¥

How do Riders in a Ferris wossess Sl G 12T Suds Lot Ut LK s 2

Translatory Motion but not Ro Aotion? ¢ J . u.‘f U S s <
E(iﬁztt?here exist a Fourt of Matter? What ?%JU!@J?UQJ?Q-&?J,EJVUE%JML,L:(
Define Young’s Modulus and write 1ts SI unit. -ﬁ/f{ &gSIKu’uyé_,y /7 S u" W5 oK
What is meant by Up Thrust? sl p e e
Write two uses of Insulators 1n our Daily Life. el JE1a L };’Pluﬁf LYY
What Causes a Glider to remain in Air? e b s inl i

Why do we Study Physics? sz yud S A
Describe Zero Error and Zero Correction. _i ugf u:’; ,«/54351,«4 9z 11
Define Significant Figure and write 1ts one . Jfg JeLaZE s P e i Al i
example. ST |
Ditterentiate between Mass and Weight. -é O sl v
. Define Momentum and write SI unit. el f = ¥ST¥ Jlﬂlé 2 /3 J (b‘”f‘ PN,
Find the Acceleration that is produced by a 20N V' -‘E-d"’/ JjJ /3 §20N /-:f)' L1l Lf'/ #8 v
force 1n a mass of 3 kg. -éﬂl”'u?'/%ﬂbé;ﬁf#u:()'
What is a Field Force? e dn/ U vii

V111

1
11

111

1V
Y,

Vi

Vil

Vi1

4. Write short answers to any Five questions: (5x2=10) z’:  / / oY 2L = ,»6(,4-_‘} 4

1.
11.
111.

1V.

V1.

V1l.

V111,

Why we use a Spanner? ‘?U’?L/ u/ Je1K e (
State the two Conditions of Equilibrium. SR FodE S e
Define Head to Tail Rule. Ay S 41

Write the name of four such Devices that ﬂ e S JQ ;g, e ol (=D ;.5; V350 o

convert Electrical Energy into Mechanical

Energy. .2 PN
. Why do we need Energy? ?%@ﬂu{ = /-"’d/ S
A 500 g Stone 1s thrown up with a velocity of QQ?JQ"L&U’JﬁmS_l//gz'vg£500g
15ms~! . Find its K.E. _ﬁlﬂl”KEJJILLﬁ
How does Heating Effect on the Motion of Gas ¢ by il Kms 7 Frdd AL A5
Molecules? "' X " X

Define Cubical or Volume Expansion and also __&Gdf_,,}pdp‘jwméh_ﬂ/J,Mz:rgg,

write i1ts Equation.
a% pakcity. org%o
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D@Pakdt}!-o@%“ ( SECTION-C /»_»)

Note: Attempt any two Questions. (9 x 2 = 18) S elirne (o

S. (a)

(b)

6. (a)

(b)

7. (a)

(b)

Calculate Mass of the Earth by using Law of SNt w2 S et o6 gu'* Sy J(Us

Gravitation.
b

A body has weight 20 N. How much Force 1s L ome2 i - 20N wis € f) S
required to move it vertically upward with an : -

Acceleration of 2ms™2 ? um/“i LL@LJ}J{_M&#;U@)’Q
?jﬁmxjﬁJJJ}

Draw speed-Time graph for a body moving with -~ 2, .~ 7.7, . & A g "y
Uniform Acceleration and from this graph f) et = - (Va4 (-

Derive the Equation of Motion Vf = Vi + at. e a1 U Za it F b
SV = Vi + at.ebl-dot”
The Head of a Pin 1s a Square of Side 10mm. ., S AR lil,ir S 0 (@

Find the Pressure on 1t due to a Force of 20N. .
& .Y JZONdle/Jféu’f % 10mm

_’é‘gf‘yl’”ﬂ,;ﬂiai
Define Kinetic Energy and Prove that: K.E = S ey P S 3K ()T
~mv? 1
2 K.E = —mv

Find the Perpendicular Components of a Forc 9 e sl 563000 /(lx U9 S50N (&)
of 50 N making an Angle of 30° with x-Axi %

%5@
ﬁ@

Please visit for more data at: www.pakcity.org



Objective Physics Paper Group I D.G Khan Board 2024

Roll No. ( To be filled in by the candidate)

¢ thy st o8
Physics SSC (9™) 1° Annual 2024 S Pt
PAPER -1 (Objective Type) Group -1 paKC|tY'Org 57 s Yl ¥4
Time Allowed: 15 Minutes = Maximum Marks: 12 12: A& 415 1)

Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number, Use marker or when to fill the circles. Cutting or filling or two or

more circles will result in zero mark 1n that question.

( SECTION-A i _»)

0.1 (Questions (A) (B) (C) (D)
Work done by a body due to its motion | Potential Kinetic :
. Power Velocity
1s equal to of body. Energy Energy
1) J ’JlewU/L;}JJfJHTUJ -y .
UL O gy laacsdev | m S
_ﬁ:_t‘y:/,l /,L ______ ) ’
| One horse power 1s equal to: 7| 4 1
11) e b 0 746 watt 76 watt 687 watt 674 watt
What should be the approximate length
of a glass tube to construct a water
b ?
jif) | Daroroeter: o | 11mVY 5m 1 m 0.5m
S e d Ut 22 ATt 2 nk &
Ce b @
. . " G
Which  of ‘t?he following has large E@}) foe Water Mercury
iv) specific heat” <
?c:_w[_.j.if‘gcﬂl](_{fc_u:gijéﬁx ,{_K i dk‘/ d//
Volume thermal expansion of Sé@ 2 v (1
o | (V)= “ ¥ |V 140 AT Z:Og%’ Vol+BAT | o Eé) P
...... =(V)sZ 317 s rbiy ¥
Rate of flow of heat =<\ 2
vi) & i QxtvY Q Q? x t &
__________ =L 7 d/ (197 L7 t t
Least count of digital Vernier Callipers 1 ’ ! !
vii) |18 7S < —cm cm vV cm
-q-‘-ui«"?ﬁ#f“/;gfg/ﬂﬁﬁ 10 100 1000 10000
In third equation of motion 2as =
viti) | Vi = V2V Vi 2 t
23S = V12 ______ J&UL’J/EJJJ
Coefficient of friction (p)= F R
j Ly o A FR — v — 1
%) i) (u)&fdi‘/gd// I R I FiR
To run, what 1s needed to push the Momentum Weight Acceleratio Friction
ground backward? n
X) mxﬁﬁJﬂfggJé‘/fbﬂ/fr&cﬁLj}: L3 X i
BUESRBA LY e | w | 2M | v
?gd‘_,d!c‘
| S.I unit of torque 1s: 9 . ., v
X1) _‘;;.s;ghéw:s.l Nm Nm Nm Nm
The value of ‘g’ at the surface of sun ,
o | fe - 5 | 274.2ms” 5
X1) | > . 8.87ms 25.94ms v 9.8.ms
--;‘-dﬂéédl‘g’{.,i/d/@m

Please visit for more data at

. www.pakcity.org




Subjective Physics Paper Group I D.G.Khan Board 2024

Roll No.

Physics
PAPER -1 (Subjective Type)

Time Allowed: 1:45 Hours Maximum Marks: 48

Group —

( To be filled 1n by the candidate)
SSC (9') 1%t Annual 2024

, u%pakcity.org PrUSY

( SECTION-B (»_»)

2. Write short answers to any Five questions:
1. Define Scientific Notation and give example.
11. What do you know about Geo-Physics?

111. Estimate your age of 15 years in seconds.

1v. Detine centrifugal force.

v. What is difference between action and reaction?

vi. What would happen if all friction suddenly

disappears?
vil. What 1s meant by the force of gravitation?

viil. Define field force.

3. Write short answers to any Five questions:

1. Define a  graph. Differentiate

between i
independent and dependent variables of a graph., @
11. Draw distance-time graph for a body at re%@

111. Differentiate between Scalars and Ve@@

O

iv. The mass of 200cm?® of sto 00g¢. Find its

density.

v. State Archimedes principle.
vi. Why 1s water not suitable to be used in a
barometer?
VL.
temperature difference the ends of a solid?

Write down the names of four faces of a Lesile’s
cube.

V111.

4. Write short answers to any Five questions:

(5x2=10)

(5% 2=

How does rate of flow of heat vary with the &% Jenl s Lu# s U/ i Ltz

(5x2=10)

:éf,fmyﬁéaﬂlréga;(j:(l
RSN Py (S N = P
e bl e AL P2 T i
e BN S8 156 £ G
Sy FSUA SRS i v
_é.QJ)Juigid;J;ldigl Y
el V2wl Lol S 2 i
S p e S SE Sy i
Sy JEUA N viii
2 felizl ety ble b 3
B B £ s PSS
Ed)
et S Fe e e n L i
G e L i A
&""u,‘;JJh‘;;.élOOgJW/%L (‘x.’l: 200cm3 (1 .iv
b
_SE YIS
?Mﬁw}ruﬂ/&@tﬁ/"{m/&g vi

111

111

Vil
?;;-.t*yz}'WJ/'L
-é4}f££d)}?/;lggfu{dﬂ' Vi1

:éz:/ﬂ.:pyifc‘:wmrékc.é:’/-él

i. Define couple. What will be the angle between /4 Sasien Ll ridnd, SIS PN S

two forces ot a couple?

11. State the principle of moments.

1. If Fy = 8N and F,, = 6N, find the magnitude and

direction of force F.

1v. Write down the equation for Kinetic energy. If
velocity of a moving becomes two times, what
will happen to its kinetic energy?

v. A force of 200 N acts on a body which move
150 m 1n the direction of force. Find the amount
of work done.

vi. Write down any two renewable energy sources.

vil. Convert 122 °F temperature into temperature on

Celsius scale and Kelvin scale.

s Sl

S Ay i

F, = 8N ZFUs9 L i
e e i S

&’U;J()*Z_ﬁz_/\://jl_ém;uJ&)!_@'JK 1V
?Jﬂfdfl_,@égd/hﬂ;}i.@ﬁm}

e §Ud e 3/ S L LU G200N v

Sk i S et SE Aab150m

-&G(tééusné&ﬂﬁ,;dw Vi

i LR s S S 24122 °F

— Fy = 6N

V11

Please visit for more data at: www.pakcity.org



viii. What is meant by internal energy of a body? On /.,.J L4 J A6 1Sl Ve GAJ 4 S () uj Vil
what factors does it depend?

c@pakcity.org} ( SECTION-C /»_5)

Note: Attempt any two Questions. (9x2=18) ...q_’/ J' ..:*..«Ulr»:..Jf:dJ

?‘f"

5. (a) Drive the formula to calculate the orbital speed fo b B 5 S s € e 8 ser (s
of artificial satellite near Earth. [ A= S e L J JE R E 2 (LND-

SRS
(b) A body has weight 20 N. How much force is Z 2ms=24 e 20 N }’gf;' (1)
required to move it vertically upward with an | ‘ Y
acceleration of 2ms~2? u/ 4,,1- did-LfLJ/L’ d/ 4}'@4:'::'-—03*)“5
?f i s 2 JJJ:’

6. (a) What measures do you suggest to conserve . 2. 5 c,ufﬁ/ L5 L B Us j_j (-6
energy in houses? i " - : )
Vet

(b) The head of pin is a square of side 10mm. Find ., LSS il i Sy LD
the pressure on it due to a force of 20 N. o _ ’
| b & oY JZONJUF_i/;JI:L:. 10mm

_i(‘)l"” ﬂ.,_( Ulad_ s
7. (a) Define evaporation and write factors that affects @ﬁf Lot 2y PSSl ()T
rate of evaporation in detail. A N o
o @ Ce 17 ALK
(b) Find the perpendicular components of. @% of S b sl K30 ° F L L;J..l_x 9 J 50N ()
S0ON making an angle of 30° with x- . b ’
@ e x,f $of Ll
O

Please visit for more data at: www.pakcity.org
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Note: you have four choices for each objective type question as A, B, C and D. The choice which you think 1s correct,

fill that circle in front of that question number, Use marker or when to fill the circles.

(SECTION-A )i »)

Q.1 Questions (A) (B) (O) (D)
Water freezes at. v
' . 5 5 0°F 0 —273 K 0K
) e bhorSa LA et
- When ice is cooled below 0°C, it Contracts Expand Melt Evaporate
11) 9 bllfIkd o« 0°C s LJ% v 57 %—5[@5 ‘I'-"jt =AU
| In solids, heat 1s transferred by. Radiation Conduction Convection Absorption
1y ey e 7 JEI I # NS S S Fail)
Which one of the following 1s the smallest
jy) |9uantity? 0.01¢g 2 mg 100 pg 5000 ng v’
?rf_.d)?g.?a:..h,‘nlﬁf U’u:r:.u:Jujéx)
A train is moving at a speed of 36kmh™1.
Its speed expressed in ms™? is:
V) |$S &7 = r § 36kmh iy iL 10ms™v’ @@'1 25ms™1 30ms~*
cnr$UIt msT e K¢ <>©
| Inertia depends upon. Fom%w Net force Mass Velocity
vi) -QJU;I{?,;I W/@ JJ!;u.‘:-:;: J v J’UJ
A string 1s stretched by two equal and @}\/
opposite forces of 20 N each, the tensi@) Zero
i) in the string 1is. O\} s ON v
Vil . 20 N
S20N d/..«g/;rfﬂ’_ﬁjfh;l,{l 3 ’
&t b /aﬂ
_%J"V U l,,zlgg"(c:.,u
A couple 1s formed by. B Two equal and | Two equal and
. wzﬂ;zclizr Two like opposite forces | opposite forces
P& parallel forces in the same | not in the same
to each other I -
ine line
V111) _%_rTuijJ{,_gp f4dﬂ@~.{lg Iz sl ) 183
/ /:)ugln ) ) ' ) )
N '/J!',LJJ 1l | sigsladisd ) | 2 FUGLI7 .9
YL . ‘
it A 3::/ JJf
The value of ‘g’ at the height one Earth’s
radius above the surface of the earth 1is.
: . " 1 1 1 v
1X) ,{,dﬁdJLfLﬁﬁjédf}c,%}i/;«f d/‘g’ 28 5 g 3 g 4 g
P
The work done 1n lifting a brick of mass 2
kg through a height of 5m above the
) ground will be: - v 5] 16001
X ; - 100 ] :
H_lgLfdiJ:J5mc-ut}£Jf,l,gJ(l/:g2
?gﬁ._ﬁ:guf
The speed of llght 1S: 3 % 1010 3 X
- . 9 -1 18 me—1
X1) -cg_.;G;JG’u 3 x10°ms e 108 ms-1v" 3 x10"°ms
What should be the approximate length of
a glass tube to construct a water
i) barometer? v | % 05
X11 ; >0 £ y e . R . 11m m m m
e o2 S22 &b 20 6
& b

o o
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- thy st oh
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PAPER -1 (Subjective Type) Group - 11 1 P Y
Time Allowed: 1:45 Hours Maximum Marks: 48 48 : // £ 1:45 1299

( SECTION-B (y_»)
2. Write short answers to any Five questions: (5x2=10) :é,; f .:-..,y,zzi_-puwéga.&/ )

1. Differentiate between base quantities and derived B LIS S U A U Gols i
quantities. T )
11. Estimate the age of 15 years in seconds. -iréutjﬁl?o}m(/gf J15 i
iii. What is meant by vernior constant? sl 2 e LA 7 ii
1v. What 1s difference between action and reaction? Z_Y /utu"g ldmluig 1V
v. State Newton’s second law of motion. _é OO /:mlyﬁy‘gcf:f .V
vi. Why 1t 1s dangerous to travel on the root of a ¢ b St B ULt e b A i
bus? ‘ T
vil. Why law of gravitation 1s important to us? Ce AIY Mg ”L oL O d;jf Vil
viii. What is Global positioning system? S T By viii

3. Write short answers to any Five questions: (5 X 2 ﬂ@ :é;; f mglzimuwé&;ﬂf 3
@O _iugg_'})uynijf"ﬁm)/kc 1

< y “w . w b T

11. Why vector quantities cannot be adde @ JFULUA S AC Sy Pl Susler Ay i

subtracted like Scalar quantities? @ ?Slp

1. Differentiate between Scalars and Vectors.

on. A NS PN AR

111. Define linear motion and circulari Q

1v. A wood block floats on wa y. ?u{.:;.l:'/f’{:&y::fw}d 1V

v. Differentiate between 4.?‘ and strain. e O 6 s

vi. Define deforming forces and elasticity. _é - /7 J u*’ffb/ Wissl 9 oy Vi
vil. Define land breeze and see breeze. Ry i ﬁ(ﬂ) ;;ld/;(..) Vil
viil. What causes a glider to remain 1n air for a long ?f_.l{(ﬁ,rgé‘_zjﬁuﬁmé;,?%ug i

period?
4. Write short answers to any Five questions: (5x2=10) :i,; /? mglﬁﬁmﬂl:/égaéi/ A

1. A mechanic tightens the nut of a bicycle using <4 J p5d15cm /g $ 200N ~C:C SO

15cm long spanner by exerting a force of 200N. st - Jor il et S s c.b@é?ﬂt
11. Explain center of mass with diagram. ..é ;'-«?’L-}}J JbIT A J f 11

. b . b b . g &
iii. Can a rectangular component of vector be LfCﬁ’”5"’1f-“-—/‘-«r’i"’.f';' ik A h’i"f:’nf JELOY i

greater than the resultant vector?

v
1v. Write the components of heating system. _5/“ j" ;lZlL(b‘/ v
v. Write the three natural causes of air pollution. -é / /" g.,l,g;&;ﬁuf Z.f ;)Tu(m vV
vi. Name any four devices that convert electrical U7 ’tﬁ'::( feak Az bt et Vi
energy 1n to mechanical energy. gl S
vii. Relate thermal equilibrium with daily life. Zodie Sonpndt k) 2 i
viii. Convert 900 K on Kelvin scale into Celsius P arn. J:C A !UKC 2+ 900K viii

scale.
u@ pakcity.org %o
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Note: Attempt any two Questions.

( SECTION-C /» _»)

(9 x 2 = 18) SIS ey ne (i

5. (a) Define centripetal force, give an example and Sl Je st v P U8 S S ()5

(b)

6. (a)

(b)

7. (a)

(b)

also derive 1ts formula.

_iﬁiﬂrﬁ

Find the acceleration produced by a force of S J 1OONJ(;‘ BQLJL(lj £50 (&)

100N 1n a mass of 50kg.

Using Pascal law derive mathematical equation
tor hydraulic press.

A train starts moving from rest with an

acceleration of 0.5ms™“. Find its speed in
Kmh™1.

Determine a force from 1ts perpendicular
components according to the head to tail rule.

A car weighing 12 KN has speed of 20ms™1.

Find the kinetic energy.

?j;/,%dv‘:./uﬂ
Pyl enZ L)1 £ 9is £ F L (-6
Zplenl-do L L
L 05ms2 « 2o § ey gt L)
& LEK100m < /s 2t = FM
Sl KM h~ e F ot LS
ca S L G Jor & ss S 9 ke (T

_ir‘yt”'g/n’
i %@zolns-l ke S K3 12N L0 ()
© A Y%
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Physics

Marks:12 Time:15 Minutes Paper: 1 Objective(iv) | Code

SSC (9")1**Annual 2024

°o| 4

7

7

G G S R S .

- S

w

E 3o sk Kk
(iv)u';:/“' Loy 215000 lz:ﬁ;' gﬁjﬁ

4:( U2l uLJ:....Q.'éJ Vi LLﬁLLLﬂijW L.flj!:/.ua..(ﬂ UJ?IJZ':E:J Z..Lzédu" /;4(&( Qlﬁ-wé &-sD » C,B,A .:.-»Ll.i:.:f J':Ldb" o =L
Ko zfdfeir§E T3S S

Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A il.»s

Q.1] Questions /=lly A B c [ b
; .%ygr(frpfajée., Nm Kgms™ Ns @ Ns™ l
Which of the given is the unit of momentum?
I - Fem e b |
2. v S e 1.8C+32@®| 18C-32 | 1.8(C+32) | 1.8(C—32) |
Fahrenheit scale F = «==--=--- ; I )
—e b g
‘f"t“"z igu.:/' Nm-z @ Nm N2m-—2 ‘ﬂu’l ‘!-'d |
The unit of strain is: ¢ No unit
4 | _ﬁ:.dt‘»d/ P&l o7 s Gg 174 by - |
Example of a good conductor of heat is: Wool i Water Wood | Iron
5. "‘:'KJJ"“""‘QJ &/"Ejd“ﬁ Lr'j’g”'g Tms™ @ 14 ms™ 21 ms™ 28 ms ™
The K.E of a body of mass 2kg is 49 J, its speed is:
. a'_" A |
6. "f"Ald;(.;/lJ"’ -.';.' | W+h f“"‘?‘f\w\?_ h Wxh @ i W /h
Potential energy is equal to: D < |
| e U S o QT cm cm
, GO 27 NG =(emAT? | AQ=cmAT | AQ=-r | AQ=——
. . : RS AT | AT?
The formula for specific heat is: P & |
(Continued/PT0) N (10l 54)
NS
<) &
~ \ O\
~ (2)
AN N '
Questions /&ily A B. C j D
Nt [ e —
. L} £ S
8. e Pdodh g mdt A6 TF=0 TP=0 S W=0 T1=0 @
I Mathematical form of 2" condition of equilibrium is: ¥ -
o | XV = (F) v Pr — Py % ¥e— Py Pr + P; Pf2+ P;*
Force (F) = --------- 4 L t t l t
10. Ot F 6l | g0 ~940 o | 42300km | 70600 km
Earth’s gravitational force of attraction vanishes at. Infinity
1 _ | j
11. V= Vi sl 7 S 2aS at @ ¢
In first equation of motion Vy — V;=--vnven-- .
12. el A BB S 0B 86 | g paee 0.00309m ®| 5.0345m 537.2m
' Which of the given quantities has three significant figures?

15-124-1A-54000% % % %
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Physics -

Marks 48

i G G P R G A S S S

SSC (9'")1**Annual 2024

Subjective Paper (I) -,de

Time: 1:45 Hours

J)f' Jb.u' l/'r' 3

145 13, 4817 m (i

ﬁNote Sectmn Bis compulsory Attemptany TWO questions from Section C.

i,
fil.
\'A

vi.
vii.

viil.

| A
iil.
iv.

vi.

Vii.

viii.
(PTO)

ii.
i,
Iv.

Vi.
Vii.
viil.

Note: Attempt any TWO questions. Each question carries NINE (9) Marks.

5. (a) Explain motion of artificial satellites and find speed of a satellite.
(b) How much force is needed to prevent a body of mass 10 kg fromfalling? (5) $Srnsuidd & Lne i Jf7 GLup /10 ()

SECTION-B /».»

SECTION-C /r.»

-J =\ Lu;’lr'.u:..(}f :..uﬁfr.ﬁ-q_d ;Ur.u..ﬂ? w2

~ Write short answers to any FIVE parts. (5x2=10) _é,; /’ =2 ﬁ" Lrl)‘!lék&(j[ 2
Define nuclear physics. E WSS
What are prefixes? Give examples. o J’tb?u;ﬂ/ /(_5/ i
Why is tﬁe use of zero error necessary in measuring instruments? ?ﬁ:.d;;/u[ Je1K 121 325 e (f L .iii
Define force and write down its SI unit also. | P <4y SI b’uwé’._g: /"JJ;:’ v
Differentiate between mass and weight. R R
When a gum is fired, it recoils, why? ?u/c.dufbfa’fé,ﬁc:_dbdwum.ﬁ.p vi
What is global positioning system? - fe U ._C—UJJ)' vii
Differentiate between field force and gravitational field strength. RSN Ag‘f" §y St sy viii
Write short answers to any FIVE parts. (5x2=10) _g{4 }'..-.»yz /""3' L;mé&:.é/ -3
Name types of motion. | ..aﬁ(bz:(u‘u! g i
Give an example of a body that is at rest and in motion at the same time. _;»;u‘! St i}jluﬁdb;ﬁ&;&ugz'&:dmf e i
What do we study in Kinematics? e/, - A i
Define density and write down its formula. & Uy Sl E5 Jd 6';‘-; v
Why do we make a mercury barometer instead of water barometer? ?u:ru:-u/ gy /a.lrJ VT /Ldt(' LV
Name application of Pascal’s law in daily life. A ;\\ -c..L»uLwMu)B'&f'LL;J Linpiss Vi
Name ways of transfer of heat. (F\’ &/ Ly ) ya Pibeds i
Why does sea breeze blow during the day? AL & fe Geus us,éu,d /(” vii

@f\ ‘)\A};’:E (iluﬂ)
N JC’
A ——
o) %pakcnty.org%o
~\ O\ (2)
.,.f«f::f}j“\/

Write short answers to any FIVE paws AN (5x2=10) _é,_«_ /’._..uf Vo LA?IéL.—.—_J/
State second condition of eqmllbﬁm)n‘“f BEb P /»J d /d;f i
Define axis of rotation. ..i' =y N ¥ T /(I i
Give an example of a body which is at rest but notin equilibrium. YXT0 /d;flygﬁu:uamé;dt‘»&(’ &1 i
Write down any two uses of solar panel. Heenl frly v
Why do we need energy? CednudenfSEitt v
How can you find the efficiency of a system? St S (,Lvé ._;,,T ‘f} &j‘f '}" o/ Vi
What extra features are added in a clinical thermometer? eSSl JUIV L 2 2 i
Define specific heat capa}i't}f _é_ﬁ; i i Jf(_;f[;,. 707 viii

...(.L’ﬁ; (9)/ Ldlr’ /;_J mgiﬁﬁéﬂlfuc_éﬁd.a)
(8) -ghe brforr g ol rSuswrf e () 5

6. (a) Draw a speed-time graph for a body moving with uniform acceleratlon (4) m-:_.,-..;:/ 4 e-,wb’/ tnl S/ /c.u’)rf:pw () _6

(b) What would be the volume of ice formed by freezing 1 litre of water?
7 (a) Define co-efficient of linear thermal expansion and derive its equation. (4)

(b) A car weighing 12 kN has a speed of 20ms-1. Find its kinetic energy.

From this graph derive the equation of motion S = V;t + - at2 ZuS=Vit+ = : atz.__,;,uJJ;;,,,;J_.u/

(5)

(B) -zt G361 20ms™

?Knb'fr;;'l;KJ/.dui_.,;leGWI ()
-éﬁlalapimléJ}JﬁJ’;IJ(LfHJ} () _7
L K3 12 NGT (L)

15-124-1A-54000



Physics SSC (9*)1**Annual 2024 e BBt Pk Rk K
Marks:12 Time:15 Minutes  Paper: I Objective(iv) | Code | 5 | 4 | 7 | 8 (iv)o;:/" Loy w2155 12:/‘!/»:._.:/ l qﬁjl

}'/ d«b’LL/Qf szl uLJc...gl-‘éfi:/! e f L/Glﬁfb&ﬂv L.rl.ﬁw.uc_gﬁ u:.?l:ét f:,:&bfé:dir ﬂ{Qﬁ}l;‘:.wi 2D s C,B,A .:.:Llﬁ.'f J{:LLJ v g =2Ld
| | Kot LU..:..J}!u:( PP SO od U’ S

Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (il»

Q.1 Questions /=liy A B C D
1. |Inertia depends upon: -« ALI¥2)1| Force 9 | Netforce | uudes | Mass | it @|Velocity| o
2 -q..dlf-’d/ /”/ hof L);; tL =7 by |¥ ! @ ..r.,jlu_/
Example of a bad conductor of heat is: Gold fron Wool Graphite
3. |Waterfreezesat: | btz g £A VR0 0°F 0°c @ 100°F 100°C
4. |In SI, the unit of stress is: ek R o AENET-0| Ns Nm™ Nm Nm2 @
: AL PEES S| B S s @ s
Rate of doing work is called: Force Torque Power Momentum
6. |Potential energy is equal to: .4‘-._3.»«:4145’.}1;}"5; % mv* mv? mgh? mgh @
7. |Specific heat of glass is: ..‘;._Jn,aﬂ? =75 ¥| 840 ) kg™ K@| 845Jkg 1K1 | 850Jkg> K | 900Jkg™ K™
8. |The unit of torque is: e g N @ Nm J N m?
: dn P Emad | v ¥ o v v
_|Centripetal force is directly proportional to: r r r r’
10. - Qoat kg Jo AW (SRS [7 (R4 h) R+h) g,(R+h) | g (R+h)
Orbital speed of a satellite at ‘/’ height from earth is equal to: \f " . \/g,, ( ) ! &l )
11./36 km h™ is equal to: | -¢1236 km h™1 10ms™ @ 20ms™ 30ms™ 36ms™
'12.|Mass of earth is: -« JLK| 6x10%4g @ Oéﬁg 6x1026 g - 6x1027¢g
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Physics - 8SC (9™)1**Annual 2024 - E3 o
Mark% 45  Time: 1:45 Hours Subjective Paper (I) ;JJW' 51:45 1=Fs _ 48 / &ﬁ.‘ﬁ

Note Section B is compulsory. Attempt any TWO questions from Section C. -ég,tmz.’.u)lm;a.Jf :.u:('r,.o-ﬁ:.diur»,p w2
;= . SECTION-B /».» |
e * Write short answers to any FIVE parts. . (5x2=10) _é,; /"'.:-...y.z N L»znég .:.J/ 2
i Write down two differences between base quantities and derived quantities. -é / /’J}M_JI SO S TVIVI Vgt 2
ii. Define positive zero error and negative zero error in screw gauge. -é Sy YIS, r:é 1 sz 94 ;:.J;Z.@fg; i

iii. Define the least count of stop watch. Write down theleast .o’ 7. s it J5°350 _,L—J.’::{. 2Ly Plue sl i
count of mechanical and digital stop watches. Y :

iv. Why s it dangerous to travel on the roof of abus? Se SFUltSppedd i
v. When a gun is fired, it recoils. Why? U -adlﬂﬁv’f é'dq-dbdt"uw-f' v
~vi. Define momentum and write down its SI unit. _ 2y Szt s i (“" ¥ i
vii. Define field force and gravitational field strength. | ..:f._u /’J n_-’UvL(JJ-"J/ di/ MW i .
viii. Why communication satellites are stationed at geostationary orbits? | Sl u/ SO /‘%’w uﬁq/’c L viii
3. Write short answers to any FIVE parts. (5x2=10) -éf/ ._..u;/’ Lf'?"’éh:-éf -3
. Asprinter completes 100-metre race in 12s. Find his average speed. JZ Pw»,uﬂ/@_r/ il FI00L L1268 L
i, Write down the equations of motion for bodies moving under gravity. - “isbold, g (L?lz._:u./ =1 !/U:L(L:’/ i
iii. Whatwould be the shape of a speed time graph of a body, o ﬂg-/(shape),'_..—(j_;a ¥ '/L*,w(f Pl Sl 7 by il
moving with variable speed?
v. Explain the fourth state of matter. | ol o gdol v
v. How many litres are there in one-metre cube? | AN\ | P P jf.!Z u:.._.uf HLl v
vi. Differentiate between stress and strain. LG Bk sy i
vii. Give two uses of convection current. ' asr -4-51--'1""’""'-/—‘-’/ SES i
viii. Whatis greenhouse effect? . o8 ?fl"‘;\ - _‘ Sy e i
(PTO) | | (,\_/ . (192
2 | AN |
o)
».c.;; -; t;‘.)
4. Write short answers to any FIVE parts. V™ (5x2=10) il dd 4
i. Define torque and write down its Stuolt. TR S
li. Whatls stable equilibium? Se bl ABKILic0 il
iii. Why the height of vehicles is kept as low as possible? tg.Jou{ Iy f ._Ewua Jg’nd’ Ul i
iv. Define work and write down its S unit. syl K1 EE JESn v
v. Whatis soil erosion? - CebtnfS L v
vi. Why do we need energy? tedruden SBAL" i
vii. Define intemnal energy. oy JlgaJ A i
viii. Whatis anomalous expansion of water? St p 54 msz_&dt Viii
@ pakcity.org %:
SECTION-C /r.»
Note: Attempt any TWO questions. Each question carries NINE (9) Marks. L A@IL iy ﬁ_f Uzl 3
5. (a) Forvertical motion of two bodies attached to the ends of a stringthat ~ (4) Lnéﬁau!/éduidmj:f :-4&c;f JaLl (L) 5
passes over a friction less pulley, find tension in the string. e P L LSt S
(b) Calculate the value of ‘g’ at a height of 3600 km above the surface of earth. (5) ..é()"_-—f S g 4(.5;J:J 3600 km r.--t' Seti (L)
6. (a) Prove that S = Vit + -:%,-r:tt2 with the help of speed time graph. 4 S=Vit+ -;-atz.f bl Sfely (L) 6
(b) The density of air is 1.3 kgm™, find the mass of air in a room measuring (5) .. /L /', 8mx5mx4m 1.3 kgm35=fix (&)
~ 8mx5mx4m. AT V(3o
7. (a) Explain three states of equilibrium with examples. (4) -{.;u,;ofu,!c» SUPLL SEA6E (L) 7
(b) How much heat is required to increase the temperature of 0.8 kg of O) J 2. Ly £75 °C<20°C Y94 b’dt 0.8kg (L)
water from 20 °C to 75 °C? AP APR U/ =7
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